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1.

MAINDEC-8/I-DOlC-D

ABSTRACT

This is a diagnostic program for testing the AND, TAD, and OPERATE

instructions of the PDP-SI ONLY.

2.

2.1

2.2

-stored

2.3

REQUIREMENTS

Eguipment

A PDP-8I equipped with Teletype.

Storage

This program uses locations 0000-4421. The Binary Loader must be

in the last memory page.

Preliminary Programs

LOADING PROCEDURE

Mimi.

The standard Binary Loader is used.

STARTING PROCEDURE

Control Switch Settings

SR = 7777

Starting Address

0144

Operator Action

1. Set SR to 144 and press LOAD ADDRESS.

2. Set SR to 7777 and push START.

3. Program will halt. MA:146

4. If AC = 0000 an error has occurred.

5. Push CONTINUE. Program will run until stopped or until an error

is encountered.



6.2

MAINDEC-B/I-DOIC-D

OPERATING PROCEDURE

Same as section 4.

ERRORS

Error Halts and Description

See listing.

Error Recovery

If it is desired to loop on the test causing the error, replace the

operate instruction preceding the BLT with a JMP to the beginning of the test.

7.

7.1

7.2

RESTRICTIONS

Starting Restrictions: None

Operating Restrictions: None

MISCELLANEOUS

Execution Time

256 program loops per second.

PROGRAM DESCRIPTION

The program consists of many individual tests. In most cases each

test checks only one function and uses previously tested functions as a basis

for the test. The program counter action is strictly sequential except for

SKIPS. The only JMP instructions used are at the end of the program.

The sequence of testing is as follows:

1. Test all Operate functions individually except for rotates.

2. Test TAD instruction.

3. Test ROTATE functions.

4. Group 1 operate instruction test. All possible combinations.



10.

MAINDEC-8/I-DOlC-D

5. Group 2 operate instruction test. All possible combinations.

6. Test AND instruction.

The Telétype bell rings after each 128 program loops.

LISTING



/INSTRUCTION TEST - i

@QHE

@771

@972

wag;
@794

@275

aemé
@997

@616

$629
$921

@922

@323
9624

@625
@926

9227
@235
was;

. 9732

$93;
muse
@335

maag
@737

aa4a

774x

-me4a
@943

7744

@745
@046
7347

@357
was;

7752

@753

@353
@955

mass

@357

@557

@661
6762

3969
6864

7777
zemm

5721

Egaz
eggs
eagz

EZEQ
7572
7a92
6797

2929

eaae
eggl
ZBEZ

2924

791%
292m
@743

2179

7277
@932
1779

2493
4789
7776

7775
7773
7767

7757
7767
7977
7577

75??
6777
5777

3777
7777
5252

2525
6@QB
7mza

74mz

7§$Q
774a
7760

777a
7774
9963

PALlfi V141 JEDEC~¢9

IINSTRUCTION TEST - l

/TAPE 1

aa

HALTa
NQQPI

029

K2328:

Kfiflfila

KQEGZII

KBflQ4I

Kflmlfip

KBBZflI

Kfl$4fio

Kfllflflo

Kfizflfln

K946fln

KIEEQI

Kaflflfip
K436i:

K7776:
K7775:

K7773:

K7767:
K7757:

"K7737:

K7677;

K7577!

K7577:

K677?a

K5777:
K3777:

K7777:

K5252:

K2525:

KéQflZ:
K7Efl9:

K74fi21

K7§fido
K7746:

K7763:
K7776:

K7774:
K9933:

w

JMP 1

flEQE

Qfiflfi

@

@flflfl

HLT
MOP

@

lCONSIANT§ AND VARIABLES

game

fiflfll

@772

@694

an;@
@727

7647

7177

@277
7477

1777
anew

4999

7776

7775

7773

7757

7757

7737
7677

7577

7:77
6777

5777

3777

7777

5252

2525
bflfim

7722

7477

7¢zu
774m

775m

777m

7779
279:

93%? PAGE 1



IINSTRUCTXON TEST ‘ 1

“$55

9366

H657

az72

$971
9972

a973

$574

va75

HE7§

3a27
£267

a§17
ra57
@077

a;77
a§77
$777

1777

mm

PALlfl

Kfififi7:

KZ3675

Kflfl17i
K2337!

K6377:
K9177e

K3377.

K9777:
K1777:

K7766:

V141

aaa7

@367

6617
1637

aa77

@177

@377

@777

1777
77am

5~DEC969 98Z7 PAGE 2



{INSTRUCTION TEST ‘ l

014$
@145
0146

3147
. 815%

@151
@152

@153

@159
@155
@156

6157
$166

@161

”1&2
@166

@164

@163

E166
@167
017%

917;
6172

3175
0174
2‘}1,75

@179
6177

3144

1951
72mm

7492

791a
75a2

7290

7539
7592

7559
741%

7462

7293

1&5“
7¢4a

7416
vgmz

7456

7592

vane
lfiss

754w
7312
7ge2

7552
7432

7gae
799w
7992

PALlfi V141

5144

ITADaCLAgHLT
START. TAD

CLA
HLT

ISKiP TEST

SKP

HLT
/SZA TEST 1

GLA
SEA

HLT

SNA

SKP

HLT

ISZA TEST 2

CLA
TAD

$25
SKP

HLT

SNA

HLT

ISEA TEST 3

CLA
TAD

32A

sxp

HLT

SNA

HLT
ND?

NOP

NOP

3-DEC-69

OTtST

K[{77

Kfi@@3

KZUEE

9867 PAGE 3

zac SHOULD=Q
x551 SR TO 7727. CONTINUE

ISKF FAILED

ISZA SHOULD HAVE SKIPPED

{AC SHOULD EQUAL EERO

ISNA SHOULD NOT HAVE SKIPFED

xAc SHOULD EagAL ZERO

zsta SHOULD NOT HAVE snzppza

IAC SHOULD EQUAL 4auz

xswa SHOULD HAVE sxxppzo

IAC suouLo EQUAL 4aaz

[SEA SHOULD NOT HAVE SKIPPED

IAG SHOULD EQUAL Zfiaa

ISNA SHOULD HAVE SKIPPED
IAC SHOULD EQQAL 236%



IINSTRUCTION TEST -

22am

EZZI

8222

B223

@2E4

@225

@236

62fl7

221%

@211

9212
”21¢

@214
@215

wzmb
E217

922”
@221

@222

@225

0224

@225

@226
@227

@239

@231

@232

$233

7222

1252
7392
7512
74%2

7229

1:41
7443

7416

7352

755a
vguz

7239
1&5:
7445

741%

7évz

745$

7592

72mg

1327
7352
7512
79a2

7456

7482

l ’PALlfl

“23$

lSéA

ISZA

ISZA

{SEA

V141 6-DEC-69

TEST 4

CLA
TAD meea

SEA

SKP

HLT

SNA

HLT

TEST 5

CLA
TAD Kgsez
52A

SKP

HLT

SNA

HLT

TEST 6

CLA
TAD ngaw
32A
SKP

HLT

SNA

HLT

TEST 7

CLA

TAD K9129

SEA

SKP

HLT

SNA

HLT

9337 PAGE 4

lSZA SHOULD NOT HAVE SKIPPED?
IAC SHOULD EQUAL lfiflfi

/SNA SHOULD hAVE SKIPPED
/AC SHOULD EQUAL 1zauu

xszA SHOULD ~07 HAVE SKIPPEDT
/AC SHOULD EQUAL 2423

'

ISNA SHOULD HAVE SKIPPED

IAC SHOULD EQUAL 346%

ISZA ShOULD NOT HAVE SKIPPED

IAC SHOULD EQUAL 626w

ISNA SHOULD HAVE SKIPPED

/AC SHOULD EQUAL 925$

[SEA SHOULD NOT HAVE SKIPPED‘
(AC SHOULD EQUAL @106

-

ISNA SHOULD HAVE SKIPPED
IAC SHOULD EQUAL @199



1NSTRUCTIOH TEST ‘

$254
0235

@239
@257

@24w

0241

9242

@246

@245
@245
@246
@247

6256

@251

@252
9253
@254

0255
0256

@257
926%

@261

0252

9263
@264
0265

6266

326?

72mm

1Q2¢
7599
741%

vqwe

7450

7562

72mm
1E25
744a

7aze
7392

755m
7962

72m@
1924

755a
7513
74a2

7559
7492

72mg

1g23
7449

7413
7gg2

vasm
7592

1 PALla V141 3~DEC-69

/S£A TEST 8

CLA
TAD K9943
52A

SKP

HLT

SNA

HLT

IS£A TEST 9
7

CLA
TAD KQWZQ

SEA

SKP

HLT

SNA

HLT

ISEA TEST 1%

CLA

TAD Kflm1z
SEA

SKP

HLT

SNA

HLT

IS£A TEST 11

CLA

TAD K9994
52A

SKP

HLT

SNA

HLT

9837 PAGE 5

/S£A SHOULD NOT HAVE SKIPPED

/AC SHOULD EGQAL aega

ISNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL waqw

[SEA SHOULD NOT HAVE SKIPPED
IAC SHOULD EQUAL 962w

ISNA SHOULD HAVE SKIPPED

lAC SHQULD EQUAL QBZE

ISEA SHOULD NOT HAVE SKIPPED

/AC SHOULD EQUAL @z1m

ISNA SHOULD HAVE SKIPPED
IAC SHOULD EQQAL fifllfi

/SEA SHOULD N97 HAVE snippgn
zAc SHOULD EQUAL same

/SNA SHOULD HAVE SKIPPED
IAC SHOULD EQUAL 9964



IINSTRUCTION TEST ~ 1

GSEQ
@3fl7

931%
“311

@312

@313
0314
@315

0316

6317
332%

332;
aazz
@323

72mg

1fi22

744%

741%

7§w2

7336
74a2

723$

i@21
7gem
741w
73m2

7458

7&9?

72mg

1%59
7513

vgwa

72$§
1a34

7?10
75;a
79e2

7239

lgfis
7?@g
7513
vgez

PALlE V141

ISEA TEST 12

CLA

TAD

SEA

SKP

HLT

SN;

HLT

{Sik TEST lfi

CLfi
TAD

SEA

SKF

HLT

SNA

HLT

ISPA TEST 1

CLA

TAU

SPA

HLT

ISPA TEST 2

CLA

TAD

SPE
SKP

HLT

ISHA VEST ;

CLA
TAB

SM;

SK?

HL?

S-DEC969

KUflE2

K@E%1

K¢777

K4889

K§777

9837 PAGE 6

ISZA SHOULD NOT HAVE SKIPPLG
IAC SHOULD EQUAL @322

/SNA SHOULD HAVE SKIppED

/AC SHOULD EQUAL @052

ISZA SHOULD NOT HAVE SKIPPEfl

IAC SHOULD EQUAL map:

iSNA SHOULD HAVE SKIPPED
IAC SHOULD EQUAL weal

ISPA SHOUED HAVE SHIPPED

[AC SHOULD EQUAL $777

ISPA SHOULD ~07 HAVE SKIPPEG
IAC SHOULD EQUAL 468%

xsmn SHOULD NOT HAVE sxxppaa
xac SHOULD EkaL 5777



IINSTRUCTION TEST - 1

@324

@325
032$
@327

@350

$331

$332

$333

@336

633:
@336
aaav
a34a

9341

6342

95345

0344.
@345

za4g
$347

masz
@351

2352

@353

@355
@355

@356

723%

1954
7:32
7422

72a2

1u51

7346

744%

7392

7335
1253

7e42

755a
vgaz

1&5;
7g4e
7442

75w2

7239
1$52
7a46

7550
73¢2

1fl52
799?
759%
7492

PALli V141

/SMA TEST 2

CLA
TAD

SHA

HLT

/CMA TEST 1

CLA
TAD

CMA

SZA

HLT

ICMA v TAD

CLA

TAD

CMA

SNA

HLT

TAD

CMA

SEA

HLT

ICMA * TAD

CLA
TAD

CMA

SNA

ng

TAD
CMA

SEA

HLT

390Ecsé9

Kggzw

K2277

K2?25

TEST 2

K5252

K5252

9137 PAGE 7

/SMA SHOULD HAVE SKIPPED
IAC SHOULD EQgAL 436m

/CMA DID NOT EOMPLEMENT AC

IAC SHOULD EQUAL EEEE

ITAD 0R EMA ERROR

IAC SHOULD EQUAL 5252

ITAD 0R CMA ERROR
IAC SHOULD EQUAL awww

ITAD OR CMA ERROR
IAC SHOULD EQUAL 2525

[TAD 0R EMA ERROR
IAC SHOULD EogAL 69am



IINSTRUCTION TEST ‘ 1

33$?
Zde

@361

@362

3365

3354

@355

3366
9357

$379

@371

3372

@373

3374

9375

US] (A ‘4 0‘

9377

@463

9421
e432

e433

e4e¢
34??

2426

9427

2413

241;
5412

6413
a¢14

72mg

1451
7340

794a

7gg2

7zau
7&3;

754a
7319
73$2

722a

1951

79%:
794E
7482

vfigw
792$

252$

72a2

1?93
7931
73a1

7a91

7gal
794a
7922

7232
7;»z
7334

7433
vgaz

PALiM V141

ICMA - TAD T

CLA

TAD

CMA
SEA

HLT

IIAC TEST 1

CLA

IAC
.S£A

SKP

HLT

(IAC TEST 2

CLA

TAD

IAC

SEA

HLT

N0?

_

NO?

“49%

/IAC TEST 3

CLA
TAD

IAC

IAC
XAC

IAC

SEA

HLT

ISZL TEST 1

CLA
CLL

RAL

52L
HLT

3-DEC-69

EST 3

K((77

K7777

K??74

9337 PAGE 8

xrno 0a can ERROR
IAC SHOULD EQUAL “GHQ

IIAC DID NOT INCREHENT

IAC SHOULD EGUL 6851

lIAC 0x0 nor INCREMENT
(AC SHOULD EugAL 222m

szc no? INCREHENTING
IAC SHOULD EchL 9939

ICLEAR LINK

{CLEAR LINK SAFETY

xszL suougo HAVE sxxppso

[LINK SHOULD EQUAL aaao



/INSTRUCTION TEST - 1

3415

$416
@417
642%

942;
@422

9423

9425

9425

3426

5427

943?
@431

9432

$43:
@434

@435

@439
@437

a44a

B441

729%

71am
7923

1&54
7004

7432

7412

75¢2

72am
715%

7am4
7326
791w
7432

72am
71am

782%
19é5
7g04
7920
7392

PALlfl V141

lSiL TEST 2

CLA
CLL

CML
TAD

RAL

52L
SKP

HLT

ISNL TEST x

CLA

CLL
RAL

swp
sxp

HLT

ISNL TEST 2

CLA

CLL

CML
TAD

RAL

SNL
HLT

3-DEC-fi9

Kgmgm

9807 PAGE 9

/CLEAR LINK

/COMPLEMENT LINK

xsar LINK SAFETY

[SEL SHOULD NUT HAVE SKIPPEQ

[LINK SHOULD EQUAL ONE

ICLEAR LINK

ICLEAR LINK SAFETY

ISNL SHOULD NOT HAVE SKIPPED

{LINK suougo EQUAL iERO

iChEAR LINK

ICOMPLEMENT LINK

ISET LINK SAFETY

ISNL SHOULD HAVE SKIPPEU

ILINK SHOULD EQUAL ONE



{INSTRUCTION TEST - 1 PALlfl V141 3-DEC-b9 9l67 PAGE 19

ICLL TEST 1

7442 726% CLA

@445 1734 TAD Kf@@fi
7449 7974 RAL 7557 LINK

@445 7427 SNL

@445 5255 JMP CLL11 (CANNOT SET LINK waH RAL
xrav A CML

3447 7137 CLL1. CLL

745% 753% SEL
2451 7592 HLT ICLL 0:0 ~07 CLEAR LINK

ILINK SHOULD EQUAL ONE

2452 5257 JMP .75

B4S§ 7926 CLL11. CML ISET LINK
a45¢ 7426 SNL
@455 7462 HLT [CANNOT SET LINK HITH

/RAL OR cmg. QANNOT
IPERFORM CLL TEST 7

2455 5247 JMP CLLl

xcmu TEST 1

@457 7166 CMLTT: CLL

2454 734% SEL
@451 7572 HLT ICLL 070 NOT CLEAR LINK
@452 722% CML

946$ 752$ SNL

946% 7292 HLT /CML 010 NOT SET LINK
6455 762% CML

@466 733% SEL
@457 7372 HLT xcmL 010 NOT SESET LINK

ICLA TEST 1 (OPERATE GROUP 2)

247a 7279 ch
@471 195; TAD K7777

@472 76EB 7667

7473 7349 SEA

@475 7372 HLT /CLA (7699! DID NOT CLEAR
5;{AC SHOULD EQUAL maze

-

zosn TEST 1

3475 7297 CLA

6476 7464 osn

@477 7270 CHA

3577 735% SEA

9521 7472 HLT IOSR DID NOT SET AC 70 7777

/AC SHOULD=E



IINSTRuCTION TEST - 1 PALia v141 a-uzc—c9 9sa7 PAGE 11

lNOP TEST 1 SOPERATE GROUP 1)

2532 720a CLA
9525 7;ww CLL xAc AND LINK EQUAL ZERO

@534 7gmm 7992 ITEST INSTRUCTION
asafi 745m SNA

65mg 733% SEL

35%? 7392 HLT INDP FAILURE
{AC AND LINK SHOULD BE ZERO

INOP TEST 2 (OPERATE GROUP 23

a51a 726E CLA

@511 7%@@ CLL /AC AND LINK EQUAL EERO

@512 749 7492 ITEST INSTRUCTION
@515 7§5¢ SNA

6514 7§;m 52L

@515 7462 HLT (N0? FAILURE
zac AND wax §HOULD BE zano

lTAD TEST 1

@516 7293 CLA

9517 1g5w TAD K§777 IOPERAND 1

@529 ;954 TAD Kggaw /0PERAND 2

@521 794% CMA

9522 794a 52A

@524 75g2 HLT ITAD ERROR
xac SHOULD EQUAL flaga

fTAD TEST 2

asee 722m CLA

$525 1E4? TAD K5777 lQFERAND 1

@526 ;@55 TAD Kazaw zepifiamo 2

$527 7956 CMA

953% 7549 52A

9531 74a2 HLT ITAD ERROR

xac swcuga anAL @990

ITAD TEST 3

@532 729% CLA

asgg lggé TAD K9277 IDPERAND 1

@534 1Q$2 TAD Klvem IDPERAND 2

@555 vaag CHA

953¢ 759m 82A

@557 7&22 HLT lTAD ERROR

lAC SHOULD EQUAL @Eflfl

{TAD TEST 4

254m 7299 CLA

@541 1945 TAO K7377 jQpERAND 1

9542 1931 TAD K§526 /0PERANQ 2

B54¢ 7g§w can

@544 7440 SEA

9545 7392 HLT ITAD ERROR

IAC SHOULD EagAL gage
/TAD TEST 5

'

9549 729a CLA
@547 i954 TAD K2277

'

IOPERAND 1



[INSTRUCTHJN TEST "P 1 PAle V141 6WDEC-99 9|67 PAGE 11-1

M559 133m TAD Kazea [OPERAND 2

HEB; 7493 CHA

6552 7§4a SZA

@553 7492 HLT ITAD ERROR
IAC SHOULD EogAL wane



{INSTRUCTION TEST - 1 PALIB V141 3-059-59 9az7 PAGE 12

ITAD TEST 6

@559 7299 CLA

Z555 1a43 TAD K7977 IOPERAND 1

@556 1227 TAD Kexaz /OPERAND 2

9557 Tpgz CMA

@55@ 733% 52A

@561 7922 HLT ITAD ERROR
IAC SHOULD EQyAL @eaw

ITAD TEST 7

8562 7299 CLA
Z565 1?;2 TAD K7237 IOPERAND 1

@569 1929
'

TAD Kgg4m IOPERAND 2

@555 7gaa cna

6566 7549 SEA

2567 vgaa HLT /TAD ERROR
[AC SHOULD EQUAL BSEE

ITAD TEST 8

@57a 7299 CLA

fl571 1641 TAD K7757 IOPERAND 1

@572 1525 TAD K9322 [OPERAND 2

057; 795? GMA

$574 7540 51A

@575 73¢2 HLT ITAD ERROR

IAC SHOULD EQUAL wave

a576 7399 NDP

057? 799? NOP

agaa ueaz

ITAD TEST 9

@526 72ga CLA

use; 1@4@ TAD K2267 {OPERAND :

6662 1924 TAD K9919 IOPERAND 2

asa§ 735m CMA

$694 7442 SEA

B665 7402 HLT ITAD ERROR
[AC SHOULD eagAL gage



{INSTRUCTION TEST * 1

@696

E667

6613
0611
6612

2613

2614
6615

@619
@617
@62O

W621

@622

O52;
$624
W625

$629
$62?

was?

was:
@532

was;
wesa

W635

flesg

72am

1g§7
1823

7g4a
7449

7592

7293

1@36
19??
794a
1943

75@2

729a
1955
1a21
7049

?35w
wggz

vaaz
715m

1934
19§4
7559

7gqe
7392

PALIB V141

ITAO TEST 1%

CLA
TAD K2275
TAO Kaua4

CMA

saA

HLT

ITAO IEST 11

OLA
TAD K7775

TAD Kggaz
CMA

52k
HLT

ITAO TEST 12

CL&
TAD Kzz7¢
TAD K@@E1
CMA
SEA

HLT

ITAD TEST 13

OLA

CLL
TAD K4996
TAD Kigaa
SZL
52A

HLT

E—UEC-69 9897

IOPERANO

IOPERAND

ITAD ERROR

{AC SHOULD EQUAL

{OPERAND
{OPERAND

ITAD ERROR

IOPERANO

[OPERANO

lTAO ERROR

IAG SHOULD EQUAL

IOPERANO
IOPERAND

ITAO ERROR. A9 5

PAGE 13

1

2

EDGE

HOULO gQUAngggm
zgxux SHOULD 8: EQUAL cue.



IINSTRUCTXON TEsT - 1

3637
664%

2641

@642

3643

5544

9645

6646

9647

965%

0651
@652

9653

3655

D65:

9656
D557

1662
D661

@662

665;

3569
9665

@666

666?
067%

@671
@672

967§
D674

86?!

6575
3677
3732
6781

DTD2

875$

729a

710m

19:4
1%33
743E

7fi4D
7&Q2

72%G

71DD

1955
19§2
7439
734D
71D2

72DD
71mm

1955
1Q§1
7539
744D

7592

7299
71mm
1957
1D§a
7539
7446

7592

TRDD
71mm
1376
1927
7§¢0
7449

7992

7206
7109

PALlfi

ITAD

ITAD

ITAD

ITAD

{TAD

ITAD

V141 SHDECség

TEST 14

CLA
CLL
TAD Kevan
TAD KZQEE
32L
SiA

HLT

TEST 15

CLA

GLL
TAD KTDDD
TAD K1QDD
SEL
szA

HLT

TEST 1o

CLA

CLL
TAD K7392
TAD KDQDD
52L
szA

HLT

TEST 17

CLA

cLL
TAD K7§Bfl
TAD KggDD
52L
szA

HLT

TEST 1a

CLA
CLL
TAD K77DD

TAD KD1DD
szL
32A

HLT

TEST 19

CLA

CLL

98%? PAGE 14

(OPERAND 1

{OPERAND 2

/TAD ERROR. Ag SHOULD EQUAL
/LINK SHOULD EQUAL ONE

[OPERAND 1
IOPERAND 2

ITAD ERROR. Ag SHOULD EQUAL
ILINK SHOULD EQUAL ONE

[UPERAND 1

IOFERANO 2

/TAD gaaoa. A9 SHOULD gDuAL
ILINK SHOULD EQUAL ONE

[OPERAND 1
IOPERAND 2

/TAD ERROR. Ag SHOULD EDDA;
[LINK SHOULD EQUAL ONE

IOPERAND 1

IDPERAND 2

ITAD ERROR, Ag SHOULD EQUAL
ILINK SHOULD EQUAL ONE

mega

gage

DDDD

DDDD

EBQQ



IINSTRUCTXON TEST * l

@764
B7fi5

E7Eb

67%?
671%

5711

B712

771;
E714
B715
B716

7717

E72@
772;
7722

7723
B724

E725

@726

@727

@736
@731

@732

z735
@734

@735

$736

2737

@747

7741

@742

774;
.7744

1@¢w

lfizé
7339
7539
7§a2

7zaz

7;Q@
1?93
1925
7fi§fi
7349
7462

72am

7&7?
1?¢2
1&24

7339
7358
7522

7277

7;?6
19§3
1323
7g§z
754a
7462

7239

7177
lfias
1322
7539
75gm
7402

PALIU VLQL 3wDEC-69

TAD K7743
TAD mamas

52L
52A

HLT

ITAD TEST 22
CLA
CLL
TAD K2252
TAD K992fl

82L
SEA

HLT

{TAD TEST 21

CLA

CLL
TAO K7776

TAD Kauia

52L
52A

HLT

ITAD TEST 22

CLA
CLL
TAD K7774
TAD K9w04

53L
SEA

HLT

/TAD TEST 26

CLA

CLL
TAD K7276
TAD K9982

82L
SEA

HLT

9ffl7 PAGE 15

IOPERAND 1

[OPERAND 2

xraa ERROR. AC SHOULD EQUAg mesa

{LINK SHOULD EQUAL ONE

IOPERAND 1

IOPERAND 2

[TAD ERROR. Ac SHOULD EQUAL aaaz

lLlNK SHOULD EQUAL ONE

IOPERAND 1

[OPERAND 2

ITAD ERROR AC SHOULD EQUAL BEE?
ILINK SHOULD EQUAL ONE

[OPERAND 1

IOPERAND 2

ITAD ERROR. AC SHOULD EOUAL;36GE
ILINK SHOULD EQUAL ONE

[OPERAND 1

IOPERAND 2

{TAD ERROR. AC SHOULD EQUAL zaaz

ILXNK SHOULD EQUAL ONE



”INSTRUCTION TEST 9 1 PALlfl V141 5'DEC-b9 9|E7 PAGE 16

[TAO TEST 24

D745 72DD CLA

D746 71DD CLL

D747 19:1 TAD K5777 [OPERAND 1

Dvsm 1@21 TAD KDDDL IDPERAND 2

8751 7439 52L

D752 755D seA

D75; 7502 HLT ITAD ERROR. Ag SHOULD EDDAL DDDD
{LINK SHOULD EQUAL ONE

(TAD TEST 25

D754 72DD CLA

D755 71DD CLL

D759 7929 CML

D757 19§fi TAD KQDDD IOPERAND 1

D766 1634 TAD KADDD IDPERAND 2

D76; 732D SNL
D762 7§4E 32A ,

B763 74D2 HLT ITAD ERROR. Ac SHOULD EDUAL DDDD

ILINK SHOULD §QUAL EERO

[TAD TEST 26
@764 72DD cLA
D765 7%@@ cLL
D766 lflfiz TAD K3777 {OPERAND 1

D757 1933 TAD Kaeaz /0PERAND 2

D77D aDDa TAD K2999 IOPERAND s

D771 794D CMA

B772 752% SNL

B77§ 735$ 52A

@774 7592 HLT ITAD ERRDR. AG SHOULD EQUAL DDDD
ILINK SHOULD EDUAL IERD

D775 79mm NOP

D779 799? N09

D777 7DDD MOP

1DDD a1DDD
ITAD TEST 27

LDDD 729D CLA
1DD1 71DD DLL

‘

.

19a: 1997 TAD K¥Z77 IDPERAND 1

1DD§ 1Q§2 TAD KLDDD {OPERAND 2

19D4 1932 TAD KlBDD IOPERAND 3

1965 7D5D CMA

LDDD 7420 SNL
1DD7 7449 52A /TAD ERROR Ac SHOULD EDUAL DDDD

1919 YQQZ HLT lLlNK SHOULD §GUAL ZEBQ



IINSTRUCTJON TESW « 1

1911

1312

Lei;
1814
1215

101a

1a17

1623
1Q21

1022

1823

1W2“'
1625

1226

1Z27
133$
1%31

1632

1533
1.634

1535

1a55
1937

1Q43

1241
1642

1543

1&44

1a45
1646

1647

,‘ 1a5e;

1ws1
1652
fifi53

1m51

726%

71am
1956
1931

1931

7941
7420

744a

7gm2

72@fl
7199

1945
igéw
1039

7&46
7129
7343
74E2

vzaa

7199
1e44

1@27
1a27
7540

7426
7559
7322

7255

716$
1145
1626
iézé
734m

7426
744a
7592

PALIB V141 S-UECnGQ

V/TAD TEST 2d

CLA

CLL
TAD K9177
TAD Kééza
TAD Hagan
CMA

SNL
33A

HLT

[TAD TEST 29

CLA

CLL

TAD K7§77
TAD KM26E

TAD KHZQE

CMA

SNL

SEA

HLT

ITAD T551 36

CLA
CLL

TAD K7577

TAD K9163
TAD K@1B@
CH1

SNL
52A

HLT

{TAD TEST 31

CLA

ChL
TAD K7677

TAD K2fi4z

TAD Héé43
CHA

SNL
SEA

HLT

9|fl7 PAGE 17

IQPERAND 1

[OPERAND 2

IOPERAND 3

ITAD ERROR. Ag SHOULD EQUAL MDUE

ILXNK SHOULD EQUAL ZERO
’

IOPERAND 1

IOPERANU 2

IOPERAND 3

{TAD ERROR. AC SOULD EQUAL $206

ILINK SHOULD EQUAL EERU 3

/GPERAND 1

{OPERAND 2

{OPERAND 3

ITAD ERROR. AC SHOULD EQUAL @699

ILINK SHOULD EQUAL BERG i

[OPERAND 1
IOPERkND 2

IOPERAND 5

ITAU ERROR. AC SHOULD EQUAL 999E

ILINK SHOULD EQUAL ZERO



zINSTRUCTIoN TEST , 1

1755

1056

1157

1mam

1gb;
1252

171;
1964

1715

1866
1%67

167%

1Q71
1672

1073

1074
1%75

1376

1277

1117
1171
1172

11€3
1135
1135
1126
1177

111a

1111

1112
111;
1115
1115

1119
1117

1129

729%
71mm
1942

1@25
1925
7945

7529
7349
7462

729m

7122
1E41
1a24
1124
7943
7421

7557
7392

72fi9

7197

1952
1923
1923

7a59
7421

744a
7592

7219
7162

1337

1922
1922
7941

7126
7449

7412

PALifl V141 3HDECR69

ITAD TEST 32

CLA

CLL
TAO K7737

TAD 19921
TAD Kggae
CMA

SNL
321

HLT

lYAD TEST :3

CLA

CLL
TAD K7757
TAD Kzz1a
TAD K7117
CMA

SNL
$21

HLT

fYAU TEST 34

CLA

CLL
7

TAD K7267
TAD K@@a4
TAD K9fl24

CMA

SNL
SEA

HLT

(TAD TEST 35

CLA

CLL

710 K7773

TAD Kggaz
TAD Kggaa
CMA

SNL
5%:

HLT

9837’ PAGE 13

(OPERAND 1

IOPERAND 2

IDFERAND 3

lTAD ERROR. AC SHOULD EQUAL @flfifl

(LINK SHOULD EQUAL 2€RD

IOPERAND 1

IQPERAND 2

{OPERAND 3

ITAD ERRQR. A9 SHOULD EQUAL gage
ILINK SHOULD EQUAL 2ERU

{OPERAND 1

/OPERAND 2

{OPERAND 3

ITAD ERROR. Ag sHDuLD EQUAL wage
ILINK SHOULD §QUAL zERo

IDPERAND 1

IOPERAND 2

IQPERAND 5

[TAU ERROR, AG SHOULD EQUAL 363%

[LINK SHOULD EQUAL EERO



ZIN$?RUCT£0N TEfi? * 1 PAL13 V141 390EC969 9337 PAGE 19

(110 {:37 so

1121 722a CLA

1122 71am CLL

1125 1gso 110 K2775 IOPERAND 1

1124 ifizi TAD «£661 IOPERAND 2

1125 1g21 TAD KBBEI [OPERAND 3

1126 7346 an;

1127 7429 SNL

113% 7332 52L

1131 73p2 HLT ITAD ERROR. 19 SHOULD EQUAL 2092
ILINK SHOULD EGUAL EERO

IRAR TEST 1

1132 72ea CLA
1133 7162 CLL

1135 1921 TAD Kgaz1 IRDTAIE PATTERN

1135 791% EAR

1136 732% SN;

1137 7§m2 HLT IRAR FAILED. LINK DROFPED A EXT
ILINK SHOULD EQUAL A ONE

IRAQ 1:51 2

1143 raga CLA
1141 7169 CLL

1142 1923 TAD Kfluflfi {ESTATE PATYERN

1143 7819 RAR

1144 7359 52A

1145 7592 «LT IRAR FAILED. Ac PICKED UP A 3:?
/A ONE IN AC EQUALS THE PICKED UP 317

IRAR TEST 3

1146 7223. CLA
1147 71fie CLL

115% 192% >TAD K9936 IROTAIE PATTERN

1151 7a1e "”RAR
1152 793a SZL
1153 7gaz HLT IRAL FAILED. Llwx PICKED UP A BIT

[LINK SHOULD EQUAL EERO



[INSTRUCTION TEST * 1 PALlfi V141 590E0u99 98M7 PAGE 2%

IRAR TESI 4

1155 72mu CLA

1155 71za CLL

1155 7uza CML

115? 192% TAD K@@flw IRDTAIE PATTERN

116% 7a1w RAH

1151 7439 32L
1162 7392 HLT {RAR LINK PICKED UP A BIT

{LINK SHGULD §DUAL 2:90
IRAQ TEST 5

1155 vgva CLA
1154 7199 CLL

1155 7925 CML
’

L16§ 1%51 TAD K7777 {ROTAIE PATTERN

1&5? ygia RAR

LL75 7%48 CMA

1171 744$ EiA

1172 ygvz HLT {RAR FAILED Ag DROPPED A azr
- IA ONE IN AC EDUALS THE DROPPED BET

1173 watt NOP

11?“ ?@4f MOP

11?fi $fi£k no?

1175 vwr; mop

117i 'éyg gap

3332 ’12fif

{RAE TEST 6

12a» ygmm CLA
1231 7xvg CLL
1232 7a22 CML _

1223 192% TAD Kflfiaa /ROTAIE PATTERN

izwg 791a RAR

12w5 135p TAD K§z77
12fi6 7w43 CMA

12%? 7556 SNA

1219 755% SEL
1211 79%: HLT IRAR FAILED A9 AND LINK

ISHOULD EQUAL @flfifi

IRAR TEST 7

1212 7392 CLA
1213 7122 CLL :2

1214 1a34 TAD Kgaaa [ROTATE PATTERN

1215 7912 RAR
'

1219 195? TAD K?Z77
1217 vade an

122a 7555 SNA

122; 755% 52L
1222 7562 HLT IRAR FAILED AG AND gzNK SHOULD

_{EQUAL aaea



/1NSTQUCTxUN TEST . 1

122;
1224

1225

1229
1227

$233
1231

1232

1233

1?34

1235

fi?36

1237
i343
1243

.jfifé’fi

1243
i244

1245

l?4&

1247

125?

1251

1252

125g
1254
1255

anQ
7169
less

72;Q
1445

7446

7552
7%;3
7432

7???

714m
$442
?Ezfi

1645
?949
74§Q
$43Q

7%fli

yasw

?ififi

ifiél
761%
1644

7@4B
7f59
7458

TQEZ

FALIB Vlfll 3~DECQ?9

{RAH TEST 8

ch

CLL
TAD Kaaaa
RAR

TAD Kez77
an;

SNA

32;
4L7

IRAR TEST 9

CLé

CL;
TAD KAQEQ
RAH

7A0 K7§77
EMA

SN!

EEL

QLW

lag” TCRX 33

0L4

CLL
Ti? Hgfififi
RQR

14$ K7577

CHA

SNA

SZL

HLT

IRAR FAILED AC AND LINK SHQULD
IEQUALB

{RkR EAILED tg AND LINK
SHQULQ

9157 PAGE 21

IROTATE PAYTERN

3053

IROTAIE PAYTERN

IEDUAL 5?93

{ROTAIE PATTERN

iRAR FAILED A9 AND LINK
ISHOULD EQUAL mama



11NSTRUCTION TEST * 1 PAL1E V141 390E696? 93%7 PAGE 22

IRAR TEST 11

125g 7377 CLA

1257 7199 cLL
1259 1937 TAD K9277 {ROTAIE PATTERN

12¢; 79:7 RAR

1262 1743 TAD K7977
1265 7545 CHA

1269 735? SNA

1265 7539 32L
1266 7462 HLT xaaa FAILED A9 AND LINK

(EQUAL QEEB

IRAR TEST 12
1257 7379 CLA
127a 7177 CLL
1271 1727 TAD K9177 lRQTATE PATTERN

1272 7917 RAR

127; 1752 TAD K7737
1274 7799 CMA

1275 7556 SNA

1279 72§5 52L
1277 7572 HLT IRAR FAILED Ag AND wax

ISHDULD EQUAL snag

IRAR TEST 13

1368 7277 CLA
1361 7:56 GLL

,

1302 1929 TAD K9997 rROTAIE PATTERN
1373 79:9 RAR

1394 1741 TAD K7757
1375 7997 CMA

1379 7359 SNA
.

1337 7435 .- ‘szL s,. -

3

1317 7572 HLT IRAR FAILED A9 AND LINK
ISHOULO EQUAL 32am



{INSTRUCTION TEST 9 1 Phgifi V141 3WDEC*§9 9l37 PAGE 23

PAUSE



IINSTRUCTION TEST . 1 91117 V141 SEDECu§9 9:17 PAGE 24

(INSTRUCTION TEST L
ITAPE 2

IRAR TEST 14
1311 7360 CLA
1312 7123 CLL
131; 1825 TAn Kflfiza lRDTATE PATTERN
1319 7@1a RAR

1315 1926 TAD KZ?67
1316 764% CMA
1317 7559 SNA

132g 75??
'

SEL -

1321 7362
'

HLT xRAR FAILED A; AND LINK
[SHOULD EQUAL flflflfl

IRAR TEST 15

1322 7222 GLA
1323 71a2 CLL
1321 1923 TAD Kgq1u IROTAIE PATTERN
1325 7319 RAH

1326 1B3? TAD K7773
1327 7@§a CHA

1351 7555 SNA

1331 7432 521
1332 7592 HLT [RAH 711150 19 AND LINK

[SHOULD EQUAL 121$
IRAR 7:37 15

133; 7zaa GLA
1334 7113 CL;
1335 1%23 TAD Kaaa4 [aerate PATTERN
1336 7119 RAR

153? 1?39 TAD K2275
1348 7741 CMA
1341 7959 SNA

‘

1342 75:1 52;
‘

134; 7332 HLT xaAa FAILED 19 AND LINK
{SHOULD EQUAL @ZEB

IRAR TEST 17
1144 7211 CLA
1345 7133 CLL
1349 1922 TAD KQQBB ,IRQTAIE PATTERN
154? 7111 RAR

1359 1&35 TAD K7776
1351 TQSB CMA-

'

1353 7353 SNA

1353 7139 52L
1354 7992 HLT IRAR FAILED Ag AND LINK

ISHOULG EQUAL game



/1MSTRQC$10q TEST - 1 9AL1Q vial JwDEC-b9 9337 PAGE 25

IRAR TEST 18

1355 7296 CLA .

1359 719% CLL -

1357 1!?1 TAD K@@@1 IROTAIE PATTERN

1363 7910 RAR

1361 1%51 TAD K7777
1362 7ggz CMA

lSéS 735% SNA

1364 742% SNL

1355 7&92 HLT /RAR (AxLEo Ag AND LINK

[SHOULD EQUAL fiflflfl

IRVR TEST 1

136§ 736$ OLA

1367 71%6 CLL

137m 1£22 TAD KfiflEZ {ROTAIE PAYTERN

1371 7?12 RTE

1372 7526 SNL

1373 7432 “LT [RTR FAILED LINK DROPPED

[A BIT LIN SfiOULD EQUAL A‘ONS

1374 79?? N0?

1375 7932 N09

1379 veaw N0?

13?? 7Eflfl ~09

1450 *14fifl
IRTR TEST 2

143a 7269 CLA

14%1 716E CLL

idea 162% TAD KBMEG IROTAIE PATTERN

14w6 7912 RTR

14fid 754a SEA

14$5 7532 . HLT IRTR FAILED AG PICKED UP A BIT

IA 0k; 1w ac EGUALS THE Pvgxaa UP BIT

/RTR TEST 3
-

ldfié 729% CLA
14g? 7gaa CLk

1412 1329 TAD Kasaw (ROTATE PATTERN

1411 .7212 RTR

1412 753a 52g

1¢1§ 7392 “L7 IRTR LINK PICKED UP A BIT

[LINK SHDULD EQUAL zERn

IRYR TEST 4

1414 7293 OLA

1415 Vififi ELL

141§ 7g2z CML

1417 192a TAD Kggam IROTAIE PATTERN

142% 7%12 RTR

1421 743% 52;
‘

1423 yggz HLT IRYR LINK PICKED UP A BITT

ILINK SHOULD EQUAL 2:30



[INSTRUCTION TEST 1 1 FALLB V141 3*DECs69 9|E7 PAGE 26

IRTR TEST 5

1423 7242 CLA

142$ 714$ CLL

1425 7a26 CML

142é 1E51 TAD K7777 IROTATE PATTERN

142? 7412 RTR

143$ 744$ CMA

1431 7443 524 -

1432 75e2 HLT IRTR AC CHOPPED A BIT A ONE IN
{AC EQUALS THg DROPPED BIT

IRTR TEST 6

1434 7292
-

CLA
1434 7139 CLL

1435 732a CML

1434 1422 TAD Kpgam [ROTAIE PATTERN

1437 7912 RTR

144a 1247 TAD K5777
1441 794a CMA

1442 7353 SNA

1443 733% SZL
1444 7492 HLT {RTR FAILED 49 AND LINK

ISHOULD EQUAL @349

IRTR TEST 7

1445 7263 GLA

1449 7150 GLL

1447 1?34 TAD K5986 /ROTATE PATTERN

145% 7212 RTR

1451 1%5é TAD K9777
1452 7493 CMA

1453 745% SNA

1454 793% 52L .

1455 7542 HLT /RTR E41150 49 AND LzNK

/SHOULD EQUAL @636

IRTR TEST 8

1454 7292 CLA

1457 71E2 CLL
1463 1333 TAD KZEEE /RDTAIE PATTERN

1461 7912 RTR

1462 1Q45 TAD K7§77
1453 7642 CMA

1464 7542 SNA

1465 7336 $21
-

1456 7592 HLT IRTR FAILED A? AND LINK
ISHOULD EQUAL mafia



xINSrRucwqam TEST » 1

14a?
1472

147;
1472

147$

147;
1475

1475

1477

lfiéfl
1571

15%?
15G:

1523
15%5

15%6

15E7

1513

1511

1512

1514
1514

1515

1516
1517

152$

1521

1522

1525

1524

1525

1522
1527
153%

1531

7532

7272

7173

1992
7E12
1244

7§Qfi
7557
743m

7372

723@
7;@@
1331

7712
1433
734%
7§52
73??
7592

7299

7193

1§53
7212
1242
7243

7553
7453

7922

7272
7:79
1727

7412
1491
774a
7453
75gz
7392

PALIE V141 5RD€C”59

IRTR TEST 9

CLA

CLL
TAD K;@@w
RTR

TAO K7577

CMA

SNA

SEL
HLT

797a TEST la

CLA

CLL

TAU KE4EZ

RTR

TAD K7977
CMA

SNA

52L

HLT

IRTR TEST 11

CLA

CLL
TAD K@26@
RTR

TAD K7737

CMA

SNA

SEL
HLT

IRTQ TEST 12

CLA

CLL
TAB Kfllflfl

RTR

TAD K7757
can

SNA

32L
HLT

9:37 PAGi 27

IRDTAIE PATTERN

IRTR FAILED A9 AND LXNK

{SHOULD EQUAL mean

lROTAATE PATTERN

IRTR FAILED A9 AND LINK

ISHOULD EQUAL waaa

IROTAIE PATTERN

/RTR FAILED Ag AND LINK

ISHOULD EQUAL 332%

IROTATE PATTERN

IRTR’FAILED A9 AND LINK

(SHOULD EQUAL B¢3fl



IINSTRUCTIOM TEST ' l

1534

1534
1535

1559
1537

154M

1541
1542

1543

1544

154$
154$

154?

1553
1551

1552

1553

1559

1555

1556

1557

156?
1561

1562
1565

1564

1565

1566

1567

1574

1571

1572

1574
1574

1575

7259
7102

1425
7412
144a

744%

7254
7430
7402

7293

7144
1425
7912

1Q37
7954
7454

7439
7342

72am
71mg

1924
7412
1436
7442

7459
7340
7442

732a

1925
7412

1435

7443
755?
7451
7442

PALié V141 5-DEc-p9

IRTR TEST 13

CLA

CLL
TAU K4444
RTR

TAD K7767

CHA

341

SZL
HLT

IRTR TEST 14-

CLA
CLL
TAD KQWZQ
RTR

TAD K2775
CMA

'

SNA

82L
HLT

IRTR TEST 15

CLA

CLL
TAD Kaw1m
RTR

TAD K7775
CHA

SNA

sag
HLT

IRTR TEST 16

OLA CLL
TAD K9934
RTR

TAD K7776

CMA

SNA

82L
HLT

98fl7 PAGE 28

IROTAIE PATTERN

xajR FAILED A; AND LINK

ISHDULD EQUAL 9944

IROTATE PATTERN

IRTR FAILED 49 AND LINK

ISHOULD EQUAL @441

(ROTAIE PATTERN

IRTR FAILED AC AND LINK
ISHQULD EQUAL @Eflfi

IROTATE PATTERN

xnra FAILED AG AND LINK

ISHOULD EQUAL 4444



IINSVR;CTIDN TEE? - 1

1576 7$BE

1577 $32

gem

1633 7233

léil 7166

1632 1%22
lags 7512

1534 7452

1625 752;
1636 ?592

1667 729%

1513 7169

1611 1§21
1612 7812

1613 135%

1615 7?53
1615 7556
1616 7433

1617 7562

162” 72%?
1621 715a

1622 1%34

1625 7624
1621 7£§3
1525 744%

1526 7492

1627 7299

153m 716%
1631 132%

1632 7384
163$ 722%
1634 7Q4E
1635 7492

PAL1& V141 3-OEC-69

HOP

:4‘QP

“1693

IRTR TEST 1?

CLA

CLL
TAD

RTR

SNA

SNL

HLT

Kggaz

IRTR yesr 18

CLA

CLL
1A3

RTR

TAD

can

SNA

82L
HLT

ngal

Kfi777

lflAL TEST 1

OLA
CLL

TAD

RAL
52L

SZA

HLT

K4EEQ

KRfiL TEST 2

CL.A

CLL

TAG

RAL
SNL

52A

HLT

Kflflflfl

9t87 PAGE 29

/ROTATE PATTERN

IRTR FAILED. AC SHOULD EQUAL
{3832a LXNK SHOULD EQUAL ONE

IROTAIE PATTERN

/RTF FAILED. AC AND LINK

ISHOULD BE EERO

IROTATE PATTERN

IRAL FAILED. Ac SHOULD EQUAL mama

ILINK SHOULD EQUAL ONE.

IROTATE PATTERN

IRAL FAILED. AC SHOULD EQUAL 066%

/LINK SHOULD EQUAL BERG



(INSTRUCTIOL TEST 9 1 PALlfi V141 3-056969 9397 PAGE 50

IRAL TEST 3

1636 72E2 CLA

1537 719% CLL

154w 7g22 CML

1641 162% TAD Kflmfifi - IRQTATE PATTERN. LINKal
1642 7204 RAL

1649 7392* 52L
1644 75%2 HLT IRAL FAILURE. AC SHOULD EQUAL Ufifll

/L!NK SHOULD EQUAL ZERO
-

IRAL TEST 4

x545 7263 CLA
1666 719% .

_

CLL

1647, 792% CML

1652 1551 TAD K7777 /ROTATE PATTERN. LINK=1
1651 7264 RAL .

1652 795$ CMA

1656 7353 SEA

1554 7462 HLT IRAL FAILURE. LINK SHOULD EQUAL ONE
IAC SHOULD EQUAL mama

IRAL TEST 5

1655 726% CLA

165§ 7;@@ CLL

1657 1353 TAD KZUBU IROTATE PATTERN

1663 7%84 RAL
1661 1?56 TAD K4777
1662 7gga CMA

1663 7450 SNA

1664 743% SEL
1665 73UZ HLT IRAL EAILURE. AG SHOULD EQUAL-93??

{LINK SHOULD EQUAL ONE

IRAL TEST 6

1669 7200 CLA

1667 7192 CLL
167a 1632 TAD KLUEE (ROTAIE PATTERN

1671 7995 RAL

1672 1&47 TAD K5777
1673 764% CMA

1679 7549 SEA

1675 75?? HLT IRAL FAILURE. AC SHOULD EQUAL wawg
ILINK SHOULD EQUAL EERO



jggszxugqgwm ¢£$7 - 1 FALaB V141 $~D££~©fi 93a? Pasi 51

anL TEST 7

1676 722% CLA

1677 7122 cLL

1723 1ga: TAD Kpgza xaorara PATTERN

1721 7394 RAL

1722 1946 TAD Kt777

1735 1442 CMA

1795 735% SN“

1735 7566 52L ;

1736 74@2 HLT ./RAL FAILURE, AC SHOULD EQUAL wage

xgxwx SHOULD EQUAL ZERO ,

IRAL TEST 8

i727 1223 CLA

171a 712a CLL

$711 1235 TAD Kazaa /ROTATE PATTERN

1712 7ga4 RAL

1715 1445 TAU K7é77
1,714 724.2 CW:

1715 735a SNA

1719 7539 saL IRAL TAILURE ac SHDULD £QUKL 6?”?
1717 7592 HLT Iwax SHOULD EQUAL ZERO

IRAL TEST 9

172@ 72g; CLA

1721 7199 CLL
1722 1927 TAU Kg;aa (ROTATE PATTERN
1723 7954 RAL

1724 1344 TAD K7577

1725 7340 cMA

1729 73:» SNA

A727 793% 5a; xnaL FAXLURE Ac SHOULD EQUAL amaw

1730 7432 - HLT [LINK SHOULD EQUAL iERO



/INSTRUCTION TEST -

1751

1732

1733

1734
1733

1735

1737

174%

1741

1742

1743
1744

1745

1749
1747
175%

175;
1752

1753

1754
1755

1759
1757

176%

176;
1762

1763

72%?

713%
1226

7zv4

1924
7243

7959

755%
7§¢2

7263
712%

1625
7gg4
1442
7342

735a

735v
74g2

7299

7132

1624

7?@4
1341
7a4a

795a
rqss
7422

l PALlw V141 3-DEC-69

lRAL TEST 1%

CLA

CLL

TAD K3349

RAL
TAD K1977
CMA

SNA

SKL

HLT

/RAL TEST 1i

CLA

CLL
TAD KQUZQ
RAL
TAD K1237
CHA
SNA

52L
HLT

IRAL TEST 12

CLA

CLL
TAD Kumlm
RAL
TAD K7757

CMA

SNA

SZL

HLT

91%? PAGE 32

xROTArE_pATTERN

IRAL FAILURE Ac SHOULD EQUAL age?
ILXVK SHOULD EQUAL A BERG

IRDTATE PATTERN

IRAL FAILURE AC SHOULD EQUAL ggwa
ILINK SHOULD EQUAL A line

/ROTAIE PATTTERN

IRAL FAILURE AC SHOULD EQUAL E629

ILINK SHOULD EQUAL A ZERO
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232“
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222

2227

2253

2331

2352

fiALlE V141 3-D

IRAL TEST 15

ULA

CLL

TAD K6234

RAL
TAD K2167
CHA

SNA

SiL
HLT

34:09

NOP

NOP

#2033

lRAL TEST 14

CLA

CLL
TAD wa62

PAL
TAD K7775

CMA

SNA

SiL

HLT
/RAL TEST 15

CLA

CLL
TAD Kgqml
RAL

TAD K7775

CMA

SNA

53L
HLT

IRAL TEST lb

CLA

CLL

CML

nAL
TAQ K7776

CHA

SNA

52L
HLT

{*1 GT”? PAGE 33

{ESTATE PATTERN

IRAL FAILED A9 SHOULD EQuAL wave

ILIYK SHOULD EQUAL A ZERO

xaovaza PATTERN

IRAL FAILED Ac SHQULD EQUAL mama

ILINK SHOULD EQUAL A ZERO

IROTAIE PATTERN

IRAL FAILED AC SHOULQ EQUAL @096

xgzux SHOULD gGUAL zERO

/RAL FAILED a; SHOULD EQUAL wage
/L:wx SHOULD gauAL EERD



fINSTRUCTION TBST - 1

223$

2%34

2935

2936

2337
204%

2m41

2942

234%
2Q4¢

2945

204§

2Z4?

BflSW

265$
2E5?

ZESS

2%54

2655

ZESQ
2657

2Z6fl

Ezél
2062

2a63

72ww

7:39
lass

7995
7323
7gm2

72am

71am

1gam
7W36

744w
73a2

7392
71fi0

1B2fi

7999
7550
7432

72am

73:”
7g2m
1929

7aw6
73??
7492

PALI? V141

/RTL TEST 1

CLA

CLL

TAO

RTL

SNL

4LT

IRTL TEST 2

CLA
CLL
TAD

RTL
82A

HLT

/RTL TEST 3

CLA

CLL

TAD

RTL

32L

HLT

IRTL TEST 4

CLA
CLL

CML

TAD

RTL

32L
HLT

S'UEC!59

KZGQfl

Kggzu

KBEWE

Kaaaa

9337 PAGE 34

IRTL LXNK DROPPED A BIT

/LINK SHOULD EQUAL A ONE

‘xRoTAIE PATTERN

lRTL AC PICKEQ up A BIT

/A ONE IN AC EGUALS THE chxzn UP

xRoTAIE PATTERN

xan wax PICKED up A BIT

ILINK SHOULD EQUAL BERG

IRDTATE PATTERN

/RTL FAILURE. LINK chxeo up A BIT

xgxmx SHOULD EQUAL A ZERO



/1VSTRUCTION TEST ~ 1 PALlA V141 5'053-69 98%7 PAGE 35

/PTL YEST 5

2254 72GB CLA

2E65 7LEQ CLL

2g5¢ 7020 CML

2357 1m51 TA; K7777 lROTAIE PATTERN

2a7g 7@@6 RTL

2a71 764$ CMA

2&72 744a 35A

2873 7482 HLT IRYL FAILURE. DROPPED A 81!
IRTL TEST 6 i

2374 726% CLA
2a75 7gww CLL

<2@79 '1934 TAD KEQZfi /ROTATE PATTERN

2277 7566 RTL

21GB 1235 TAD K2276
21%; 7%29 CMA

21%2 7956 SNA

21$3 743% SEL
>

21a5 wng HLT IRTL FAILED A9 AND LINK SHOULD EQUAL @maa
‘

xarL TEST 7
:

2125 72a2 CLA

21%9 7%fiv CLL

2187 1333 TAO K2666 IROTAIE PATTERN

2119 7%fi6 RTL

2111 7352 SNA

2112 7529 SNL

2113 7592 HLT IRTL FAILED AC AND LINK SHOULD
IEQUAL GEGB

IRTL TEST 3

2114 72@% CLA

2115 7;me cLL

2119 1g32 TAD K;@fifl IROTAIE PATTERN

2117 7mze RTL
2123 1&59 TAD K§I77
212; 793$ CHA

2122 755a SNA

212$ 743% SEL

2125 7g@2 HLT IRTL [AILED Ag AND LINK SHOULD
IEGUAL fififlfi



/IMSTRUCTIOM TEST . l

2125

2126

2127

213”
215;
2132
2133

2133
2135

2136
2137

214a

2141

2142

214g
2145
214$
214$

2147
2159

2151
2152
215%
2154
2155

215g
2157

215%
2161
2152

216§
2164
2155
2169
2167
217%

7gew
71a0

1331

7@@¢
1997
7m4m

795$

739w
7§w2

72am

71am

xggv
7aaa
1945
794m
7552
7432
7992

72am
7;@@
1fi27
7awo
1@55
7g4fl
745m

7g$z
7ng

720a

7199

1926
79??
1%44
7&4»
735m

7339
7492

PALlB v141 3-DEc-po

IRTL TEST 9

CLA

CLL

TAD Kwaam

RTL
TAD K:z77
CMA

SNA

52L

#LT

IRTL TEST 1%

CLA

CLL
TAD Kpaam
RTL
TAD K¢777
CMA

SNA

SZL
HLT

IRTL TEST 11

CLA

CLL

TAD K9166

RTL
TAD K2972
CMA

SNA

32L
HLT

IRTL TEST 12

CLA

CLL
TAD KQQ49
RTL
TAD K7577
CMA

SNA

52L
HLT

98%7 PAGE 36

lROTATE PATTERN

/RTL FAILED AC AND LXNK SHOULD

IEQUAL ZERO

zaornya PATTERN

xRTL FAILED Ag AND LINK SHOULD

lEQUAg wama

-/ROTATE PATTERN

IRTL FAILED Ag AND LINK SHOULD

/EQUAL saga

I/RQTAIE PATTERN

IRTL FAILED AC AND LINK SHOULD

IEQUAL @558



{INSTRUCTION TEST ~ 1

2171

2172
2175

2179
2175
217a

2177

ZZQZ
2261

2232

2223
2294

2222
2296

2277

221?

2211

2212

$;2213
2219
2215

2216
2217

222?
2221

2222

2223
2224
2225

2226

2227
-2232

2231
2232

2233
2234
2235

2236
2237
224a

2241

2242

2243

7955
7272

7222

7522
7?68
7229

7225
2222

7222

7:72
1725
7526

1743
7?€@
7952

7935
7572

7252
7122

1224

7526
1992
724a

7552
7S§9
7362

7222
7120

1Q23
7299
1941

7942
7355
7552
7422

7222

7122
1222
7926

136%
7292
7552
7432

7372

pALlé V141 3-DEC-69

MOP

MOP

MOD

~09

MOP

NOP

M09

“22%6

IRTL TEST 13

CLA

CLL
TAD K5522
RTL
TAD K1977
CMA

SNA

SiL
HLT

/RTL TEST 14

CLA

CLL
710 K9218

271

TAD K7757
CMA

SNA

szL
HLT

IRYL TEST 15

CLA

CLL
TAO K9084
27L
TAD K7?57
CMA

SNA

szL

HLT

IRTL 7257 15

CLA
CLL
TAD Kggzz
27L
TAD K7767
CMA

SNA

SEL
HLT

9837 PAGE 37

IROTATE PATTERN

IRTL FAILED 19 AND LINK

IEQUAL 2222

IROTATE PATTERN

IRTL FAXLED AC AND LINK

/ROTAIE PATTERN

(RTL FAILED AC AND LINK
IEOUAL @665

lROYATE PATTERN

IRTL FAILED Ag AND LINK

ISHOULD EQUAL @265

SHDULD

SHOULD

SHbULD



/IN‘STRUCTION TEST - 1 PALlB V141 3-DEC9é9 9337 PAGE 38

IRTL 155T 17

2244 72am CLA

2245 716% -

CLL

2249 1921 TAD Kggm; (ROTAIE PATTERN

2247 7Q!“ RTL
225% 1937 TAD K7773

2251 799a CMA

2252 755w SN;

2253 743a SZL

2254 73”? HLT IRTL FAILED Ag AND LINK
xSHOULD EQUAL pawa

IRTL TEST 18

2255 722? CLA
2259 7;@@ GLL

2257 7929 cML
2250 7amo RTL

3261 19?? TAD K??75
2262 7q4a CMA

2263 7456 SNA

2265 '753@ SEL
2265 75g2 HLT IRTL FAILED A9 AND LINK

ISHOULD EQUAL $965



/INSYRJCTIDM TEST w 1

2256

2267

2272
2271

2272

2273
2274

2275

2276

2277

23%6
2391

2322

2323

2324

23E5

2325

2337

231”
2311

2312

2313
2314
2315

2316

2317

2320

2321

2322
2323

7232

7gaa
7342

7OZO

75¢¢
742%

744%

75¢2

7222
1w53
7249

799»
7&42
7422

7269

7:2e
7349

714a

7527
755a
7422

7129

7322
7gaa
7242

7343

794a
732a
744a

7§u2

PALIJ V141

IGROUP 1 OPE

CLA

CLL

CHA

CHL

CLA

SNL
SEA

HLT

IGROUP 1 OPE

CLA
TAD

CLA
CMA

SEA

HLT

IGROUP 1 OPE

CLA
CLL
CMA

CLL

SNL
SEA

HLT

IGROUP 1 OPE

CLL

CML
CLA

CHA

CLA

CMA

SNL
SEA

HLT

3-UEC-h9

RATE TEST 1

CLL

RATE TEST 2

K2525
CMA

RATE TEST 3

CMA

RATE TEST 9

CHA CLL

9TO7 PAGE 39

ICLEAR AC

ICLEAR LINK

{AC EQUALS 7777

ILINK EQUALS ONE
ITEST COMBINATION

ICLA cLL FAILED. LINK SHOULD a: 2

/AC SHOULD EQUAL ages
-

IAC EQUALS wage
[AC EOUALS 2525

/TEST COMBINATION

/CLA CMA ERROR. AC SHOULD
res mama

/AC=7777 Lxngx
/TEST COMBINATION

/CLL CMA FAILED. AC AND LINK
[SHOULD a: zERo

ILINKFI

/AC=7777

/TEST COMBINATION

ICLA CMA cLL EAILEO. ac AND;
/L1NK SHOULD as zeao



’IMSTRUCTION TEST 9 1

2329
2325

2326
2327

2332

2331

2332

2333

2339
2335
2333

2337

2343
2341

2342

234;

2345
2345

2343

2347
2352

2351

2352
2353

2359
2355
2356

7223
7122
7242
7223

7332
7442

7522

7333
7323
7:22

7522
7322

7333
7122

7923
72??

7323
7242

7322

7333
7552
7922

7342

7929
7532
744a

7922

PALlfl

IGROUP

/GROUP

[GROUP

IGROUP

752032

V141 S-UECeEQ

l DPERATE TEST 5

CLA
CLL

CMA

CLA CML

52L
SEA

HLT

1 OPERATE 7257 o

CLL
CHL
CLL CML

SNL
HLT

1 OPERATE TEST 7

CLL

CLL CML

SNL
HLT

1 OPERATE TEST 8

CLL CML

CLA CHA

CLA CLL CHL

SEL
SiA

HLT

1 OPERATE 7357 9

CLA CLL CMA

CLA CLL CHL

52L
32A

HLT

91%? PAGE 40

ILINKIQ
IAC=7777
lTEST COMBINAIION

ICLA CML FAILED. AC SHQULD EQUAL

liflfifi, LINK SfiOULD BE A ONg

/LINK'1
ITEST COMBINATION

ICLL CML FAILED
/L1MK SHOULD BE A ONE

ILINKFE
ITEST COMBINATION

ICLL CHL FAILED.
ILINK SHOULD BE A QNE

ILINK§1
IAC=7777

xTEST COMBINATION

ICLA CLL GML FAILED. LINK SHOULD
{BE 1. AC SHQQLD BE ZERO

ILINKna. Ac=7777
ITEST COMBINAIIQN

ICLA CLL CHL EAXLED7 LINK SHOULD

{BE 10 AC SHOQLD BE iERD



fzaS'igcrxou TEST # 1

2357

236m
2351

2362
2365

2555
2565

2356

2367
237a

2371

2372

2373

2374

23??

2376

2377

2443

24?;

24f2

24:5
2484

2435

24f6

24£7

241m

2411

2412
241$

2415
2415
2416

7449
7@9@
?959
744m

75¢2

7gmw
lass

734a
7w4u

7&29
744m

74m2

7age

7gaa
7qw2
768%

7wam

236%

7526

;453
7;ow
1253

7%92
753g
744m

7322

7gum
762%
716%

7qez
7g§v
744a

74z2

pALla V141 3~flEC969 9:87 PAGE 41

/GRDUP l OPERATE TEST 1%

CLA CLL ch /AC=7777, gxmxsg
CHA CML ITEST COMBINATION
SZL
SiA

HLT /CMA CML FAILED. AC SHOULD $5

lfiflflfl LINK SHOULD EQUAL ONE.
[GROUP 1 OPERATE TEST 11

*24flé

CLA CLL /AC AND LINKIQ
TAG K2525 IAC;2525
CLA CHA CLL /T£sr COMBINATION
CMA

SNL

SEA
‘

H‘LT ICLA CMA CML EAILED. AC SHOULD BE

19aum. LINK SflouLD EQUAL ZERO
NOP

NOP

mop

~09

Nap

/GHOUP 1 OPERATE TEST 12

CLL CLA /AC AND LxNKaq
TAD «2:25 lAC=2?25
CLL EMA CHL IYEST COMBINATION
TAQ K2§25
CMA

SEL
SEA

HLT ICLL CMA CML EKILED. AC SHouLD BE

lfififia. LINK SHOULD EQUAL ONE
{GROUP 1 OPERATE TEST 13

CLA CLL

CHL IAC:$@EG. LINK:1
CLL CHA CHL /TEST COMBINATION
CH4

SEL
52A

“L7 ICLL CHA CML EAILED. AC SHOULD
/BE @gza. LXNK SHOULD SE ONE



'INSTRUCTION‘TEST - 1

2417
2422

2421

2422

242;
2424

2425

2426

2427
2432

2431
2432

2434
2434

2435

2436

2437
2442

2441

2442

2444

2444

2445

2449
2447
2452

2451

2452

7325

1253
7492
7242

7529
7442
7422

7525

1252
7§¢z
7946
7434
7254
7&92

7222

4253
7241
1235
7242

7542
7422

7225
1235

7;Ml
799%
742%
7946
7f?2

PALIB

IGROUP

IGROUP

/GROUP

[GROUP

V141 3HDEC-é9 9167 PAGE 42

1 0222472 TEST 14
CLA CLL
TAD K2?25 14c=2225. gxwxgz
5L4 CLL CHA CML ITEST COMBINATION
CMA

52L
324 .

4L7 7cL4 cLL GMA CML FAILED. AC SHOULD
IBE @222 LINK SHOULD EQUAL ONE,

1 OPERATE 7557 25
CLA CLL CHL
740 K?252 xAc-szsz. LINK§1
CLA CLL CHA CHL ITEST COMBINATION
CMA

52L
$24

HLT IGLA CLL CMA QML FAILED. Ac SHOULD
/BE 225. LINK SHOULD EQUAL ONE

1 0222412 7257 16

CLA
740 K2525 24c=2225
CLA 149 77257 COMBINATION
740 K7776
CHA

524

5L? ICLA 140 FAILED
IAC SHOULD EQUAL 2222

1 0222472 7557 27
CLL CHL CLA

2“

TAD K7776 IAC=7776. gINKnl
CLL 1A9 ITEST COMBINAIION
CMA

SNL
52A

HLT ICLL IAC FAILED. Ac AND LINK

ISHOULD EQUAL EERO



IINSTRUCTION TEST * 1 PALlfi V141 590EC'é9 93%? PAGE 43

IGRGUP 1 OPERATE TEST 18

2456 7429 CLA CLL CML
24§4 1%53 TAD K2525 /Acx2525 L1~K=1
2455 7591 CLA CLL IAC ITEST COMBINAIION
2456 1435 TAD K2776

'

2457 7a4z CNA

245a 7429 SNL

2¢51 7450 SZA
_

‘

2452 74fi2 HLT ICLA CLL tAc FAILED. AC AND LINK
(SHOULD BE 2590

IGROUP 1 OPERATE Igsv x9

2&63 739E CLA CLL IACIQ LINK35
2&64 7341 CMA {AC ITEST conBINATION
2465 7359 SEL
2466 7546 SEA

2467 7402 HLT ICMA 1A0 FAILED. AC SHOULD EQUAL
{@EBE. LINK SfiOULD EQUAL ONE

[GROUP 1 OPERATE TEST 26

247E VJZE CLA CLL
247i 1@§$ TAD K??25 IAC=2?25 LINKpa
2472 7241 CLA CMA IAC /TEST COM81NATION
247$ 743% 53L
2474 744% SEA

2479 7fi@2 HLT ICLA CMA IAC {AILEO. AC SHOULD
{EQUAL ages, wax SHOULD BE ONE,

IGRQUP 1 OPERATE TEST 21
:

247a 7423 CLL ch cm; /AC=Z8@9 LINKfl
2477 1621 TAD Kaaz1 IACIfiflfil

2583 7L41 ELL CMA IAC (TEST CUMBINAIION
2531 7942 CMA

2522 7422 SNL
25%: 744% szn

23mg vng HLT ICLL CMA 1ac [AlLED. AC SHOULD BE
lfiflfifl LINK SHOULD BE 5

IGROUP 1 OPERATE TEST 22

2535 792a CLA CLL CML

2§$6 1353 TAD K2525 /AC=2525 LINK'1
2537 7541 CLA CLL CMA IAC /TEST COMBINATION
251% 735% SEL
2511 754a SZA

2512 7432 HLT ICLA CLL CHA IAC FAILED. AC SHOULD BE

IZfiEE. LINK SHOULD BE ONE



INSTRUCTION TEST ! 1

2513
2514
2515

2516

2517
2522

2521

2522

2525

2529
2525

2526

252?

253%

2531

2532
2535

2534

2535

2536

2537

254?
2541
2542

2545

2544

2545

2549

2547
255%

2551

2552

2553

2554
2555

7322

1652
7951
743%

744%

73$?

7§Qm
1%35
7621
799%
7930
7449

7192

7§2@
1335
7621

7742
7322
7442

7422

73mm

1973
7221

1935
7242
7456

7942
73@2

7922
1935

7:21
7952
7532
744a

7&9?

PALlfl

IGROUP

IGROUP

IGRQUP

{GROUP

IGROUP

V141 SFDEC-59 9137 PAGE 44

1 OPEHAIE TEST as

CLA CLL
TAD K5252 /AC=5252 L1NK=R
CLA CLL CMA IAC ITEST COMBINATION
52L _

SEA

HLT lCLA CLL'CMA {AC FAILED AC SHoyLD
782 2222. LINK SHOULD BE ONE

1 OPERATE TEST 24

CLA CLL
TAD K7776

‘

/ACa7776 LINKaz
CML IAC ITEST COMBINATION
CMA

'7

,
SZL 2

31A 9
HLT xcmL IAC FAILED AC SHOULD BE

/@R@R. LINK SHOULD BE ONE

1 OPERATE YEST 25 a

CLA CLL CML
~ T

TAD K7776 IAC :7776 LTNK-1
CML IAC /TEST COMBINA330N
CMA

SNL
52A

HLT ICML 1A0 FAILED. AC SHOULD BE

72222, LINK SROULD BE zaao

1 OPERATE TEST 2o

CLA CLL
’

TAD KZ?25 /ACI2?25 LlNKfi?
CLA CHL 1A0 [TEST COMBINATION
TAD K7776
CMA

32L
52A

HLT xcLA CML {AC [ATLED. Ac SHOULD BE

72222. LINK SHOULD EQUAL ONE

1 OPERATE TEST 27

CLA CLL CML IAc=zamm LTNKE;
TAD K7776 ana777¢
CLL CML IAC (TEST COMBINATION
CMA

szL
SZA

.-

'

_

HLT ICLL CML IAC EATLURE. AC SHOULD BE

/2222. LTNK saouLD EQUAL ONE.



lxNSTRuCTION T£ST v.4 9&L1J Vifil 3wDEC-b9 91a7 PAGE 45

IGROUP 1 OPERATE TLST 28

2555 vsme CLA CLL

2552 igqs TAD K2776 xAc=7z7o LINKFE
256m 7121 CLL CML IAC /TEST COMBINATION'
2561 7942 CMA

2562 755w Sig

256; 75§2 32A

2564 7402 qu ICLL CML IAC FAILED. AC SHOuLD
/BE 6636. LINK SHOULD BE ow:

xsaoup 1 OPERAIE Tgsv 29
’-

;

2565 vsaa ~CLA CLL

256g ;@55 TAD K2325 {ACaE?25. LINK-fl
2567 7§21

.

CLA CLL CHL xac ITEST COMBINATION
257% 1035 TAD K7776

2571 7949 CMA

2572 73?? SEL

2575 794% SEA

2574 7402 HLT ICLA CLL CML IAC FAILED. AC SHOUtD
IBE gage. LINK SHOULD BE ONE

2575 7@@@ NOP
’

2576 7003 MOP

2577 7gma mop

aqza “2632

IGRQUP 1 OPERAYE TEST 3%

263B 7§29 CLA CLL CML

2601 195$ TAD K2?25 7Ac=2225 LINK=l
26%? 7321 CLA CLL CML [AC xrzsr COMBINATION
26a3 1935 TAD K??76
26a4 7a4g CMA

zaws 743a .seL

26%9 744w 82A
,

26%? 73?? HLT ICLA CLL CHL 11C'FAILED. AQ;SHGULD
.79: aflfla.‘L1NK SHOULD as out



IINSTRUCTIDN TEST ' l

261%

2611
2612
2615

2514

2615

2619

2517
2629

2621
2622

2623

2624
2625

2629
2627

2630
2631
2632

2533

'2634
2535

2639
2637

254m

2541

73mm

lazl
7&61
7g9w
743a

7442
75v2

7§20
1921
7me1

7950
752a
7442

vng

7ggm
1u53

7261

752a
7356
74e2

7329

1@55
7291
7439

744m

72@2

pAL1J‘

IGROUP

{GROUP

IGROUP

IGROUP

V141 3’UEC-69 93%? PAGE 46

l OPERATE TEST 61

CLA CLL

TAD Kflwfll /AC=§@$1 lexafl
CMA CHL IAC [TEST COMBINATION
CHA

SEL
SEA

HLT ICMA CML IAC [AILED. AC SHOULD

/BE QQEQ. LINK SHOULD BE ONE
1 SPERATE TEST 52

CLA CLL CML

TAD K9061 IACBEEfll LINKll
CMA CML IAC /TEST COMBINATTEN
CHA .

SNL
52A

HLT /CMA CML {AC EAILURE, AC SHOULD BE
/Bfiflfl. LINK SHOULD BE ZERO

1 OPERATE TEST 53

CLA CLL /Ac=maaz szxgw
TAD K2525 xAcuz§25
CLA CMA CML IAC ITEST COMBINATION
SNL
32L

HLT ICLA CMA CML IAC FAILED. AC SHOULD
/BE mama. LINK SHOULD BE EERO

1 OPERATE TEST 34

CLA CLL CML
TAD K2525 /AC=2?25 waxsx
CLA CMA an 1A6 /TEST comawavxom
52L
SEA

HLT /CLA CMA CML 1A6 FAILED. A; SHOULD
/BE @663. LINK SHOULD BE ONE



IINSTHUCTION TEST “ i

2642

2643

2644

2545

2646
2547

2656

2651

2652
2653

2653
2655

2656
2657

2666
2661

2662
266a

2665
2665

2666

2667

2676

2671

2672

2676
2674

7962
1821
7161

7§4fi
7432

794a
7562

7629
1621

7161

795?
7936
7449

7572

7962
1353
7561

752%
7552
7432

736a
721a

1§§fl
7343

7426

73%?
7592

96613 V141 $wDEC-99 9767 PAGE 97

IGROUP 1 OPERATE TEST #5
CLA CLL

TAD Kwfifll IAcsfflfil LINKIfl
CLL CMA CML IAC ITESY COMBINATXGN
CMA

SZL
52A

HLT ICLL CMA CHL IAC FAILED; AC SHOUkU BE.

IQBQE. LINK SHOULD BE ONE

[GROUP 1 OPERATE TEST 36

CLA cg; CML

TAD K9991 /Ac=zva1 LINK'1
CLL CMA CML IAC /TEST COMBINATION
CHA

52L

SEA
HLT ICLL CHA CML LAC FAILED. AG SHOULD BE

lflflflfi. LINK SHOULD BE ONE

IGROUP 1 OPERATE TEST 37

CLA 6L5
TAD K2525 /Ac=2?25 LINKIa

ghA
CLL CMA CML IAC ITEST COMBINATION

L
SEA

HLT ICLA CLL CMA CML IAC FAILURE AC AND

ILXNK SHOULD EQUAL ZERO
xaaoup 1 OPERAIE Tfisr sa

CLA CMA CLL CHL /AC:7777 LINKI;
CLA RAH xTEsv COMBINArxow
TAD K9777
GHA

SNL
52A

HLT ICLA RAH FAILED. LINK AND

IA: SHOULD EQUAL ZERO



[INSTRUCTION TEST 5 1 PALlfi V141 SPDEC969 9lfi7 PAGE 48

IGRQUP 1 DPEHAIE TEST 69

2675 7362 CLA CMA CLL CML /AC=7777 waxax
2676 7224 CLA RAL

“

ITEST COMBINATION
2677 19gb TAD K7779
2722 7242 EMA

2721 7422 SNL
2722 7542 324

2723 7322 HLT ICLA RAL FAILED LINK AND

IAC SHOULD EQUAL ZERO
xenoup 1 OPERATE TEST 32

2724 736% CLA CMA CLL CML /Ac-7777 LINK 21

2725 7212 CLA RTR ITEST COMBINATION
27mg 1247 TAD K5777
2727 7992 CMA

271B 792% SNL

2711 7442 52A
"

2712 7322 HLT ICLA RTR FAILED. AC AND

ILXNK SHOULD BE EERO

IGROUP 1 OPERATE TEST 41
2713 7é99 CLA CMA CLL CML IACn7777, Lxmxgi
2714 7225 GLA RIL (TEST COMBINATION
2715 1336 TAD K7775

271§ 7ggu CMA

2717 7522 SNL

2722 7440 SEA
-

2721 7522 HLT lCLA 27L FAILED. AC AND wax

lSHOULDBE ZERO
[GROUP 1 OPERATE TEST 42

2722 7;:2 CLA CLL GML
2725 1?26 TAD K9@4E /AC=2942 LINKui

2724 7110 CLL RAR ITEST COMBINATION
2725 1@41 TAO K2757
2729 795% CHA

2727 7422 SNL
273% 7442 SEA

2731 7522 HLT ICLL RAR FAILED. AC AND LXNK
/SHOULD BE 2520



[INSTRUCTION YEST '

2732

2733

2734
2735

2736

2737

27493

2741

2742

2743

2744
2745

2746

2747

275%

_2751

2752
2753

2759
2755

2756

2752
2750

2761

2762
2763

2764

2765

2766

792;
1226
71e4

l?%3
7gaa
742%

7§4a
75g2

7§29
1626
7x12

1%42
7242

7529
759%
7452

7322

maze
71??
1944
7342

7529
7949
7462

73éfl

7g1a
732%
7942

A

.L

74%2

PAglé V141 SsDEC-99 9:37 DAGE 49

IGRQJP 1 opERATE TEST 93
CLA CLL CML

TAD Kflflda lAc=a¢£z LINKll

CLL RAL /TEST COMBINATIOV
TAD K7977
CMA

SNL
SEA

HLT /CLL RAL FAILED. Ac AND LINK:

ISHOULD BE EERU
1

IGROUP 1 OPERATE TEST 54
CLA CLL CML

TAD KEE4Z xAc=afl4e LINK=1

CLL RIB ITEST-CDMBINAIION
'TAD K7767
CMA

SNL
SEA

HLT ICLL RTR FAILED. AC AND LxNK
ISHOULD BE EERO ,

IGROUP 1 OPERAIE TEST 45

CLA CLL CHL

TAD Kgg4a /Ac=eg&a LINK=1
CLL RTL /TEST COMBINATION
TAD K7577

CMA

SN;
SEA -

HLT ICLL RTL FAILED. AC AND LINK

[SHOULD BE EERO
IGRGUP 1 OPERATE TiST 46

CLA CLL CML CHA /AC=7777 LINK?1
CLL CLA RAR {TEST COMBINAIXON
SNL
SEA

HLT xcLL CLA RAR EAILED AC AND

ILXNK SHOULD BE EERO



IINSTRUCTION TEST - 1

2767

277%

2771
2772

277¢

2774

2775

2776

2777

Saga

3721

3772

Sees

3774

36%5

392p
3377

301%
3211

3912

3013
Sild
SE15
3816

3017
362%

7g¢e
7964
7422

7432

7322

732%

7727
79a3

7397

5979

7362

7§12
7322
7442

7432

7§bfi
7ga¢
7423

744a

7572

7§va
7236

1357

7?3@
7527
744a

7572

PALIS V141 SHDEC-69 9397 PAGE 5%

xcaouP 1 OPERATE ThST 47

CLA CMA CLL CML 7AC=7777 LxNK51
CLL CLA RAt x7557 cowawaxxow
SNL
SZL
HLT ICLL CLA RAL FAILED. AC AND

.

ILXNK SHOULD BE ZERO
NOP

NOP

NOP

NOP

053713256

IGROUP 1 OPERAIE TEST 48

CLA CHA CLL CML IAC=7777 LINK§1
CLA CLk RTR 77537 COMBINAIION
SNL
52A

HLT xcLA cLL RTL EAILED. AC AND

ILINK SHOULD 3E zERo

IGROUP 1 OPERATE TEST 49

CLA CMA CLL CML IACI7777 szxfi
CLA CLL RTL ITEST COMBINAIION
SNL
slA

HLT lCLA CLL RTL EAILED- A: AND

ILINK SHOULD EQUAL ZERO

IGROUP 1 OPERATE TEST 5a

CLA CLL /ACa2waa LINKga
CML RAR ITEST COMBINATION
TAD K5777

CMA

SNL

SEA

HLT /CHL RAH FAILED. AC AND LINK
(SHOULD BE zERo



[INSTRUCTION TEST * i PALlS V141 SIDEfiwéQ 9Sfl7 PAGE 51

IGRQUP 1 OPERATE TEST 51

3321 7gza CLA CLL zAc=awmw LINK :@

3&22 7924 CHL RAL ITEST COMBINATION
3225 1235 TAD K7776

szaé 744w CMA

3225 732a SNL

sgzb 7549 SZA

3327 74w2 HLT /CHL RAL FAILED. Ac AND LINK

{SHOULD BE ZERO.
IGRouP 1 OPERATE TEST 52

3%3Q 753% CLA CLL lAC=QEQG LINKEQ
3331 7952 CML RIR ITEST COMBINAIION
3332 1a47 TAD K5777

sass 7349 CMA

3335 752a SNL
3335 7949 52A

3356 7‘@2 “LT ICML RTR FAILED. AC AND LINK
ISHOULD EQUAL ZERO

ISROUP 1 OPERATE TEST 53

3g37 7366 CLA CLL IACaflflnfl LINKEB
334E 7%29 CHL RTL IYEST COMBINATION
SE41 1%36 TAD K7775
3342, 7342 CMA

3m43 74am SNL

3w4q 753a 52A ,

3965 74%2 HLT /CHL RTL FAILED. AC AND LINK
ISHOULD EQUAL ZERO

{GROUP 1 OPERAIE TEST 54

5345 7559 CLA CLL
3247 1252 7A9 K5252 /AC=5252 Lxuxua
swsw 7agu cLA CHL RAH ITEST COMBINATION
3351 1asa ran x4777
3352 7a46 CHA

335; 7323 SNL

3&59 734a 32A

3&55 7452 HLT ICLA CHL RAH FAILED. AC AND;
PAUSE



IINSTRUCTION TEST ~ 1

3Q56

3357

396a
3e51

3062

3263

azag
azafi

_3aee
3267

sa7z
3z71

3972
3973

3975
3275

3676

3277

31%?
3191
3132
313;
31H4

31a5

3136

51%?
311»
3111
3112

311§

75mm

lESZ

7224
1@¢5
7Z4E

7420

794%
74w2

756$

1$52

7232
igqr
764m

7429
735w
7592

759m

1@52
7:29
lfléb

7Z49
732m
7542
7402

7399

7;;w
7g04
7436

794a
7gg2

PALlfl V141 S-DEC-69 9857 PAGE 52

IINSTRUCTIQN T§ST
- 1

xsnoup 1 OPERATE TEST

ITAPE a

CLA CLL

TAO K5252

CLA CHL RAL

TAD K2276
CMA

SNL
SEA

HLT

55

IACBEZSE LINK=B
[TEST COMBINATION

/CLA CML RAL FALED. AC AND

ILINK SHOULD BE ZERO

IGROUP 1 OPERATE TEST bq
CLA CLL

TAD K5232

GLA CML RTR

Tao K??77
CMA

SNL
SEA

HLT

IACSSZSE LINKBQ
{TEST COMBINATION

ICLA CHL RTR FAILED. AC

ILINK SHOULD BE ZERO
IGROUP 1 OPERAIE TEST 57

CLA CLL

TAD K§252
CLA CHL RTL

TAD K7775
CHA

SNL
SEA

HLT

lAC=5252 waxaa
(TEST COMBTNATTON

ICLA CML RTL FAILED; AC

/L1~x SHOULD EQUAL zaao

[GROUP 1 OPERATE TEST 55
CLA CLL
CLL CHL RAR

RAL

82L
52A

HLT

/AC=aamz Lszaa.
/TEST COMBINATION

/CLL GML RAR EAILED. AC

[BE mega LINK SHOULD B:

AND

AND

SHOPLD



IINSTQuCTIOM.TEST - 1

3114

3115
3116

3117

3123
3121

3122
3125

3124

3125

3129
3127

3133

3131

3132
3133

$134
3135

$136

$137

314%
3141
3142

3143

7423
7132
7aa4

755a
7949
7492

7529

7gz4
7516
745a

7953
7932

7322

7124

791m
7353
744a

7532

7§ma
7;:2
7396

7539
7353
7462

PALlfl v141 smuac-p9 9:97 PAGE 53

/GROUP 1 OPERATE TEST 5?

CLA CLL CML /AC=$Z%% LINK?1
CLL CML RAR /TEST COMBINATION
RAL
SEL

52A

HLT /CLL CML RAR FAILED. AC SHOULD BE

/@40@. LINK SHOULD BE A 0mg
IGRouP 1 OPERATE TEST an

CLA CLL xAc=avaa LzNng
CLL CML RAL [TEST COMBINAIION
RAR

szL
32A

-

HLT ICLL CML RAL EAILED. Ac SHOULD
IEGUAL mama. LxNK SHOULD 35 ONE

IGROUP 1 OPERATE TEST 91
CLA CLL CML xAc=aaez waxgz
CLL CHL RAL ITEST COMBINATION
RAR

52L
SEA

,

HLT ICLL CML RAL EAILED. AC SHQULD
(EQUAL aaaa. LINK SHOULD BE QNg

IGRouP 1 OPERATE TEST 62

CLA CLL /Ac=aazv LINKEZ
CLL CHL RIR xrssr COMBINAIXON
RTL
32L
SEA

HLT ICLL CML RTR FAILED. AC SHOULD
/BE $663. LINK SHOULD BE ONE



IINSYRUCTION TEST « 1

3144

5145
3146
3147
315a
3151

3152
3153

3155
3155

3156
3157

316a
3161

3152
3165

3159
3165

3166

3167
317a
3171

3172
3175

3175

3175
3176
S177

3236
3291

5292

3293

52%?
32E5

3236

7§2@
7x32
raga

793m
755?
79w2

vaaw

7:26

79;2
7536
744a

7322

7929
7;2¢
7212

753m
7353
74a2

73mg

1@52
7§§m
7964
743m
754m
75é2

7qwa
7662

7939

save

732m

1953
7g;u
7934

7553
734%
7462

PALlfl V141 EgDECué9 9ifl7 PAGE 54

IGROUP 1 OPERATE TEST @5
CLA CLL CML IAC=EEE3 LINKEl
CLL CML RIB ITEST COMBINATION
RTL

SéL
SEA

HLT ICLL CML RTR FAILED. AC SHOULD
/BE aaea LINK SHOULD BE ONE.

IGRDUP 1 OPERAIE TEST g4
CLA CLL /Ac=aazz LINKse
CLL CML RTL {TEST COMBINATION
RTR

52L
32A

HLT ICLL CML RTL EAILED. Ac SHDULD

185 Even, gxwx SHOULD BE A om:

IGROUP 1 OPERATE TEST as

CLA CLL CML IAC=EQZ9 LINKE1
CLL CML RTL ITEST COMBINAIION
RTR

82L
SEA

HLT ICLL CML RTL FAILED. AC SHOULD
/BE mama. ngK SHOULD BE A QNE.

IGROUP 1 OPERATE T?ST 66

CLA CLL
TAD K5252 xA¢=5252 LINKEB
CLA CkL CML RAR ITEST COMBINATION
RAL

32L
SEA

HLT ICLA CLL CHL RAB FAILED. AC SHOULD

/BE @629. LINK SHOULD BE ONE
NOP

NOP

NQP

uszzm

IGROUP 1 OPERAIE TEST @7
CLA CLL CML
TAD K2§25 IAC=2§25 LINK-1

OLA CLk CML RAH /TEST COMBINATION
HAL

53L
SiA

HLT /CLA CLL CML BAR FAILED. AC SHQULD

/BE zama, LINK SHOULD BE ONE



[INSTRUCTIOE TEST 9 l FAhlfl V141 5“DEC'?9 9367 PAGE 55

IGROUP 1 OPERATE YEST 95
32;? 7933 CLA CLL

$213 $353 TAD K2525 1AC=2525 LINK-Z
3211 7324 CLA CLL CML RAL ITEST COMBINATION
3212 7413 RAR

3213 743% SEL
3214 7542 523

3215 7332 HLT /CLA CLL CHL RAL FAILED. AG SHOULD
IBE 289%. LINK SHOULD BE ONE

/GROUF 1 OPERATE TEST 69 i

3213 7323 CLA CLL CML

3217 1352 TAD K5252 {ACISZSZ LINK-1
3223 7§24 CLA CLL CML RAL ITEST COMBINATION
3221 7313 RAR

3222 7§36 SZL
3223 7443 SEA

3229 7g32 HLT ICLA CLL CML EAL FAILED. A; SHOULD
IBE 3933 LINK SHOULD BE A ow:

/GROUP 1 OPERATE TEST 7%

3225 7332 CLA CLL

3226 1655 TAD K2525 /AC=2§25 Lszsz
3227 7532 CLA CLL CML RTE ITEST COMBINATION
325B 7§¢¢ RTL
3231 7952 52L
3252 7443 52A

3233 7432 HLT ICLA CLL CML fiTR FAILED, Ac SHOULD
{BE 3333. LINK SHOULD BE A ONE



IINSTRUCTION TEST I 1 PALIQ V141 55DECHQ9: 91$? PAGE 59

75Roup 1 OPERAIE TEST 71
3235 7927 CLA CLL CHL

3235 1352 TAD K5252 /AC=5252 LINK‘l

3239 7332 CLA CLL CML RTR 77557 COMBINATION
3237 7936 RTL

3243 7433 521
3241 7343 521

3242 7332 HLT ICLA 311 CML BTR 71:150. AC suougo
IBE @860. LINK SHOULD BE A ONE

IGROUP 1 OPERATE TEST 72

3243 7393 CLL CLA

3244 1053 TAD K2525 IAC32525 Lxuxsa
3245 7§26 CLA CLL CHL RYL 77337 COMBINATION
3249 7912 RTR

3247 7533 SEL
325% 7443 531

3251 7332 HLT . . 7c11 CLL GML 371 rAxgzp. Ag SHOULD
1 796 EQEE. LINK SHOULD BE A zeao

'

/GROUP 1 OPERATE 7:57 73

$252 7§3$ CLL CLA CML

3253 1952 TAD K5252 xAcuszsz LINK=1
3254 7326 CLA CLL CML RTL 77537 comazunrgon
3255 7912 nra

3259 71%” SZL

3257 7443 SEA

323% 7532 HLT /CLA CLL CML 87L FAILED. Ac SHOULD

/85 333%. LINK SHOULD BE A on;
/GROUP 1 OPERATE TEST 74

3261 7§am _ CLA cLL
3262 1351 TAD K7777 [TEST PATTERN

3263 7fl41 CIA IAC EQUALS fi@@1
3234 1335 TAD K7773 .

3235 793% CMA

3269- 752% SNL
-

3267 7949 52A lCIA FAILED AQSSHOULD
EEQUAL

3333

3273 7592 HLT ILINK SHOULD EQU ML R0

IGROUP 1 OPERATE TEST 25
3271 7533 OLA CLL
$272 19§5 TAU Kl???

'

ITEST PATTERN

3273 7341 CIA IAG EQUALS 3392
3274 1Q36 TAD K7775

,

3275 7W90 CMA

3279 7&29 SNL
3277 7443 32A

'

161A FAILED AC SHOULD EQUAL 3333

3339 7592 HLT ILINK SHOULD EQUAL A EERO



iINSTRUCTION TEST . 1

3321
3392

333$
3395
3305
3329
3337

331%

3311

3312
331$

3313
3315

3313,
3312
3329

3321

3322

3323
3324

3325

332$

3327

333?

3331
3332

3333

3335
3335
3333

3337
334a

7339

1063

7U§1
1%37
704O

7526
7550
7§O2

7333
1&52
7341
1953
734a

7423
725?
7532

79¢B
1$61
7941
1951
7ggO
7429

759%
7532

7323
1333
7341
1952
7343
7529
7559
7532

PALifi V141 3-DEC-69 $167 PAGE 57

{GROUP 1 OPERATE TEST 73

CLA CLL

TAD K7774 ITEST PATTERN
CIA. IAC EGUALS 0995
TAD KZZ7J
an:

SNL
,

SEA /ch FAILED Ag SHOULD EQUAL Mgflfi
HLT ILlNK SHOULD EQUAL ZERO

IGROUP 1 OPERATE TEST 77

CLA CLL
TAD K7772 ITEST PATTERN

cIA IAC EGUALS 3313
TAD «2267
CHA

SNL
SZA

HLT IGXA FAILED A; SHOULD EQUAL 396a
[GROUP 1 OPERATE TEST 78

CLA CLL

TAD K7768 ITEST PATTERN

CIA IAC EOUALS 3329

TAO K1257
CHA

SML
SEA

_

HLT [CIA [AILED A9 SHOULD EQUAL 3999
(LINK SHOULD EQUAL ZERO

IGROUP 1 OPERATE TEST 79
CLA cLL

7:0
K7749 ITEST PATTERN

C A

TAD K1137 lac EQUALS v93?
CMA

SNL
SEA

HLT ICIA FAILED A9 SHOULD EQUAL azgz
ILINK SHOULD EQUAL 2ERO



(INSTRuCTION TEST - 1

3341

3342

3549
3349
3345

3349
3347
3359

3351
3352
3355-

3354
5355

3359
3357

3399

3361
3362

3399
3364
3365

3369
3367
3379

7999

1g76
7951
1943
7949
7329
7339
7492

7599

1@57
7951
1944

7949
7329
7949
7492

7390

1@56
7941
1945

7949
732?
7349
7562

PALifi V141 SHUEC—69 9IB7 PAGE 58

IGROUP 1 OPERAIE TEST 99

9L1 CLL ,

TAD K7799 /TEST PATTERN

919 719 EQUALS 9199
TAD K7977
CHA

SNL
521

HLT IC!A FAILED A SHOULD EQUAL 9999

(LINK SHOULD EQUAL ZERO

IGROUP 1 OPERAIE 7957 91
OLA CLL
TAD K798fl ITEST PATTERN

CIA IAC EQUAst9299
TAD K7577

'

991

59L
SEA

HLT IClA FAILED AC SHOULD EQUAL 9999

xLTNK SHOULD EQUAL 2999

[GROUP 1 OPERATE TEST 92
CLA CLL
TAD 97399 ITEST PATTERN

CIA IAC EQUALS 9499
TAD K7977
CMA

SNL
521

HLT ICIA FAILED A9 SHOULD EQUAL 9999

{LINK SHOULD EQUAL zERo



{INST8467ION TfiST ._1 PAL12 v14; 5wDEC-b9 9:67 PAGE 59

3371 7wea map

3372 793a map

3376 7&39 NO?

3374 7aee Me?

3375 7gwa map

3375 7gaa MOP

3377 795% NO?

35ae a34az

xsaoup 1 OPERATE TEST p3
34am 7see CLA CLL

3431 1E55 TAD K7aaa ITEST PATTERN

34a2 7ggl c1: /AC EGUALS 1992
34%5 1346 er x5777
3464 794% CMA

3435 732% SNL
3426 744a SEA

3437 7492 KL? ICIA FAILED AC SHOULD EQUA; mama

ILINK SHOULD EQUAL zERo
,

[GROUP 1 opznnr: TEST 94
341% 733% CLA CLL
5411 1P§4 TAD K9956 ITEST PATTERN

5412 7341 CIA {AC EDUALS 239a
3413 1647 TAD K5777

5414 7g4a CMA

5415 752a SNL
3416 7449 SEA

3417 7462 HLT [CIA FAILED Ag SHOULD EQUAL flafifi
ILINK SHOULD gauaL zERo

{GROUP 1 upgaxre TEST as
342% 79am CLA CLL
3421 1@34 TAD Kfiéfifl ITEST PATTERN

3422 7641 CIA xAc EQUALS 4eaa

342$ lqsv TAD K3777
3423 795% CHA

3425 7523 SNL

3426 7442 32A
:

3427 75v2 HLT xch EALED AC SHOULD EQUUA’EEQ
[LINK SHOULD EQUALL EERO

IGROUP 1 OPERATE TES? so

343% 7gea CLA CLL
3431 1?23 TAD Kawzu ITEST PATTERN

3452 7641 CIA IAC EQUALS acme, LxNK EQUALS A ONE
3433 vfism SNA

3434 752a SNL
343$ 7422 HLT ICIA FAILED AC SHOULD EQUAL 3333

ILINK SHOULD EQUAL A ONE



[INSTRUCTION TEST - 1 24212 v141 3aDECa¢9 9327 PAGE 62

IGROUF OPERATE; TEST 87

3436 7343 CLA CHA CLL IAC=77774Lfifi
3437 7311 CLA CLL IAC RAR IAG=%:L31
3443 7533 32L

344; 7452 524
.

3442 7422 HLT IERRORI LING NOT SET 0R

IAC NOT 3

.

{GROUP 1 OPERATE TEST as

3443 7392 ch CHA CLL CML IAC=7777,L=1
3444 7§25 2L4 c2; 14c RAL 14622.242
3445 7433 SZL

,3449 7422 HLT
'

,
IERRDRI LING NOT 3

3447 7941 CMA xAg
'

3453 1322 TAD K2932
3451 7443 SEA

3452 7322 HLT IERRDR 4c N0T32

IGROUP 1 OPERATE TEST 89

3453 7322 CLA CL; CML /Ac-3.L:1
3454 7313 CLA CLL zAc RTR IAG34@E@,gIE
3455 7432 52L

3459 7522 HLT /ERRoRT LING NOT 2

3457 7523 534

3450 7562 HLT IERRORI AC NOT 439%

IGROUP 1 OPERATE TEST 22
3431 7362 2L4 CMA CLL CML IAc=7?77oL!1
3462 7327 CLA CLL 14c RTL {ACQ47LINCEE
3463 7533 52;
3464 7422 HLT (ERROR: LING NOT 3

3435 7241 CH4 IA6

3439 1923 T40 K2934
3467 7442 924

3472 7422 HLT xenanfia AC NOT 4

IGROUP 1 OPERATE TEST ?;
3471 7322 CLA CLL IAcawa L36
3472 79;; CLA CLL CML 1A9 RAR IACP42234 L51
3473 7523 SMA SNL

‘

3474 7422 HLT xERROR; AC NUT 4322 on

'_/LINC NOT 1'



ItN-S'rn‘ucnom TEST . 1, Visual V141 S-UEC-Er? 9M7 PAGE 61.

IGROUP 1 OPERATE TEST 92

3475 7é$9 CLA CLL IAC=flsL=2

347§ 7§45 CLA CHA CLL IAC RAL /AC:@§@1.L-w
3477 743% 52L
353% 7932 HLT ILINC NDTaz

35a; 7§#1 CMA 1A9
ssez 1921 TAD Keaal

3523 754a 52A

saws 7g¢2 HLT IAC NOT @@@1

{GROUP 1 OPERATE TEST 93

3565 végv CLA CHA CLL CHL IAC§7?27.L-1
éssae 7373 v CLA CHA CLL CHL IAC RTR /Ac=a.L-z
35a7 7943 SEA

351$ 73g2 HLT {ERRORI

3511 7459 32L
3512 7432 HLT (ERROR!



/INSTRUCT!ON TEST 7 1

3513
3515
3515

3516
3517

3523
3521

3522

352;

3524
3525

3526

3527

3537
3531

3532

3533

3539
3535
3536

724a

7723
7372

7942
7272

72g7
7343
7443

7372

7295
7543

7422

7233

7:33
7932

7237

165a
7599
7357

7422

PALlB

IGROUF

IGROUP

IGROUP

{GROUP

IGROUP

V141 390ECHO9

2 OPERATE TEST 1
CLA CMA

-

CLA SMA

HLT

SEA

HLT

2 OPERATE TEST 2

CLA CMA

OLA SEA

SEA

HLT

2 OPERATE TEST 3

CLA CMA

SMA SEA

HLT

2 OPERATE TEST 4

CLA
SHA SEA

HLT

2 OPEHAIE 7537 5

CLA

TAD K3777
SMA 33A
SNA

HLT

9357 PAGE 62

/AC=7777
ITEST COMBINATION
ICLA SMA OXD NOT SKIP

/AC SHOULD BE OOOO

/OLA SHA 030 NOT CLEAR Ac
/AC SHOULD BE 3333

xAc=7777
ITEST COMBINATION

IOLA SEA SKIPEEO OR AC NOT

[CLEARED TO 596$

xAc=7777
77557 COMBINATION
ISHA 52A SHOULD HAVE SKIPPED

IAG saouLo EQQAL 7777

xAc-azza

ITEST conewayxow
ISHA 32A SHOULD HAVE SKIPPED
IAG SHOULD EQUAL @239

lAc93777
ITEST COMBINAIXON

ISMA SEA SHOULD ~07 HAVE SKPPED
IAC SHOULD EQQAL 3777



/I\$??NCYISK TEST * i PkLifi V141 S-DEC~59 9ifl7 PAGE 65

IGROUP 2 OPERATE TEST 6

3537 7242 CLA CMA /AC:7777

3542 774a CLA SMA SEA ITEST COMBINAIION
3541 7482 HLT /CLA SMA SEA SHOULD HAVE SKlpPED

IAC SHOULD BE 9868

3542 7442 SEA

354$ 74%2 HLT /AC HAS NOT CLEARED
IAC SHOULD SE 969%

IGROUP 2 OPERATE TEST 7

354‘ 729% CLA 1Ac=amaa

3545 774a CLA SMA SZA (TEST camaxNAzon
3546 74é2

.

HLT ICLA SHA SEA SHOULD HAVE SKIPPEO
IAC SHOULD BE saee

3547 7352 SZA

355a 74e2 HLT /Ac NAs NOT CLEARED

IAC SHOULD BE emza

IGRQUP 2 OPERATE TEST g
3551 726a CL‘
3552 xasa TAD K3777 IAC=3277
3565 7752 CLA SHA SEA /TEST COMBINATION
3554 744% SEA

3555 74fi2 HLT (SHA 52A 010 NoT SKIP CF AC
INOT CLEARED TO Bfiflfl

IGROUP 2 OPERATE TEST ?
3556 756% CLL CLA /LINKIZ
5557 1g52 TAD K?252 IACasgsz
355% 7§22 CLA SNL ITEST COMBINATION
3551 744a 32A
5552 7392 HLT xs~L sxxppzn on AC NOT CLEARED

[AC AND LINK SHOULD EQUAL ZERO



’XNSTRUCTION TEST - l

3563
3554

3565

3566

3567

3579

3571
3572

3573
3574

3575
3576

3577

3639

3621

36a2
36B3

saga
3663
3636

3667

732a

1953
792a
7492

794a
7462

7590

7529
744a

7502

7922
7525
74m:

7gwe
1034

7529

7592

7529
1954
752a

73?2

PALlQ V141 SaDECH§9

(GROUP 2 OPERAIE TEST 1?
CLA CLL CML
TAD K2525
CLA SNL

HLT

SEA

HLT

{GROUP 2 OPERATE TEST 11

CLA CLL
SMA SNg
SEA
HLT

xsnoup 2 OPERATE TEST 12

CLA CLL GML
SMA Sm;
HLT

zsRoup 2 OPERAIE 1537 13

CLA CLL

TAD Agmea
SMA SNL
HLT

choup 2 OPERATE TEST 14

CLA GLL CHL

TAD Keeaa
SMA SNL
HLT

9337 PAGE 64

IAC=2Q25 LINKgi
/TEST COMBINATION
ISNL DID NOT SKIP
(LINK SHOULD EQUAL ONE

chA SNL on NOT CLEAR Ac

IAC SHOULD EQQAL seam

IACIfiBflfl LINKyfi
ITEST COMBINAIIDN

/$MA SNL SKIPBED. Ac AND LINK
ISHOULD EQUAL EERO

IAC!BBBE LINKal
/TEST COMBINAIION
ISNL SHOULD HAVE SKIPPED. LINK I 1

xAc-Aaea LINKaa

(TEST COMBINATION
ISHA SHOULD HAVE SKIPPED
IAc=4eaa

lAc:4@68 LINKII
ITEST COMBINATION
ISMA SNL snougo HAVE SKIPP§U
/AC:4666 LINKsl



11NSTRUCTIQN T£$¥ « 1 Pame V141 fimflfifiatfl gnaw 949: as

/GROUP 2 DPERfiTE TEST 15

561% 7§2fl CLA CLL IACIBEQE LIVKIE
3611 7723 CLA SMA SNL ITEST COMBINATION
3512 7g93 SZA

3615 75?? HLT ISMA SNL SKIPPED. AC AND LINK
ISHDULD BE ZERO

lGRouP 2 OPERATE TEST ;6
3619 7$2E CLA CLL CHL IAC=flwafi LINKll

3515 7720 CLA SHA SNL ITEST COMBINATION
3516 7592 HLT /SNL SHOULD HAVE SKIPPED

. ILXNKEl
3517 744% SEA
3628 73a2 HLT ICLA SMA SNL 910 NOT CLEAR AG

IAC SHOULD EQUAL ZERO

/GROUP 2 OPERATE TEST 17

362; 7gea CLA CL;

3522 1&34 TAD szma 1Ac=4966 LINKsB
3523 7729 CL; SMA SNL 11:37 COMBINATION
3624 7532 HLT [SHA SHOULD HAVE SKXPPED

zac SHOULD EQUAL @639 LINK=8

3525 744a SEA

s¢2¢ 73a: HLT ICLA SMA SNL gxn ~07 CLEAR ac

/AC SHOULO EQUAL flfiflfi

IGROUP 2 OPERATE TEST 18
3627 7gze CLA CLL CML

3636 1934 TAD anma xAcqegaa LINKI1
3631 772a CLA SHA SNL 17:57 COMBINATION
3632 7gmz HLT ICLA SHA SNL §HOULD HAVE SKIPPED

/AC SHOULD BE 2092 LINK!%
3533 7443 SEA

3634 7532 _ HLT ICLA SMA SNL 910 NOT CLEAR AC
‘

{AC SHOULD BE 2363 LINK‘l
(GROUP 2 OPERATE TEST 19

3635 7§BB CLA CLL /Ac=mwaa LINng
3636 7463 SEA SNL ITEST COMBINATION
3637 7592 HLT /szA SNL 0:0 NOT SHIP

xAc=2pma
{GROUP 2 OPERATE TEST 2%

3649 732a
-

cLL CLA CML xac=aeaa LINK31
3641 7596 52A SNL ITEST comaxNAIxow
3542 7492 HLT xszA SNL 0x0 NOT SKIP

IAC=EEBE LINK!1



[INSTRUCTION TEST R l

3645

3544
3645

364?
3647

365%
3651
3652

3653

3654

3655

355g

3657

366”

5661

3662
3663

3664
3665

36¢é
3667

367%
3671

3672

367$

3675
3575

3676
3577

3737

766%
1331
7459

755$
7432

7623

1925

7592
vane

736m

796%
73w2

754a
7392

7g29
766E

7§z2

744a

7502

7§2E-
1Q3¢
7669
7322

7442

73a2

799w
1933
766%

7443

7572

IGROUP 2 OPERATE TEST

CLA ch
TAD Ke4ae

SEA s~g

SNA

HLT

Icaouv 2 OPERATE Igsr
CLA CLL CML
TAD Keane
52A SNL
HLT

IGROUP 2 OPERAIE TEST
CLA CLh

CLA SEA SNL
HLT

SEA

HLT

(GROUP 2 OPERATE TEST

CLA CLL CML

CLA SEA SNL

HLT

52A

HLT

IGROUP 2 OPERATE TEST

CLA CLL CML
TAD ngaa
CLA SEA SNL
HLT

SEA

HLT

xenoup 2 OPERATE TEST

CLA CLL
-

TAD Kawam .

CLA SEA SNL
-32A

V‘HLT

PALID V141 s~uac~g9 9:37 PAGE $9

21

IAC=E4B6 LINKifl
(TEST COMBINATION

ISEA SNL SKIPPED
IACSQAEB Lxmxge

22

xAc-ag4a L1NK=1
ITEST camezNAIxON

.m ,sgA SNL SHOULD HAVE SKIPPED
ILINKal

23

IACFEQQQ LXNKtfi
[TEST COMBINATION
ICLA SEA SNL §HOULD HAVE SKXPPED
IAC AND gINK $HOULD EQUAL ZERO

ICLA $2A SNL 910 NOT CLEAR AC

241A:
SHOULD BE mafia

IAC=w@EZ LINKsi
ITEST COMBINATION
ICLA SEA SNL §HOULD HAVE SKIPPED
xAc=zpza LINKE;

ICLA 52A SNL 930 NOT CLEAR AC

IAC SHOULD EQUAL flfififi

25

xAcszzfia LINKai
ITEST COMBINATION 0R

ICLA 52A SNL §H0UL0 HAVE SKIPPED

xLINKg;

/CLA SEA SNL 910 NOT CLEAR AC

IAC SHOULD EQUAL EEBE

26

1Ac=2@ma LINK-n
xvasr COMBINATION

zch SEA SNL EAILED. AC AND

ILXNK SHOULD EQUAL zznc



[INSTRUCTION TEST * 1

$731

37a2

3793

3734

37%5

3736

37%?

371%
3711

3712

3713

3714
3715

3719
3717

372a

76UU

7566

74a2

7323

1&52
756a
7432

73mg
1964
7569
74a2

7399

imam
7:55

7459

7522

PALiZ V141 3*0EC-99 9167 PAGE 67

{GROUP 2 OPERATE TEST Z7

CLA CLL /AC:auaa LINKIQ
SMA StA SNL ITEST COMBINATION
4LT /SMA SEA SNL SHOULD HAVE SKIPPED

/Ac=avaw LINKuw
IGROUP 2 OPERAYE TEST 2a

CLA CLL CML
vac x9777 xAc=3277 LINK!1
SMA séA SNL [TEST COMBINATION ;

BLT ISMA SZA SNL SHOULD HAVE SNIPFED

IAC=3777 LINKII
lGROUP 2 OPERATE TEST 29

CLA CLL
TAD Kggea /Ac-4gem LINKya
SHA SEA SNL ITEST comalNATION 1
4LT /SHA 52A SNL SHOULD HAVE SNIPPED

IAc=4waa leuga
xenoup 2 OPERATE TEST 3%

CLA CLL
TAD K§777 xActsz77 LINKsa
SMA 82A SNL (TEST COMBINATION
SNA

HLT ISMA 52A SNL §HOULD NOT HAVE

stxPPED. AC=§777 LINK-fl



IINSTRUCTION TEST 9 1

3721
3722

3725

3725
3725

3726

3727
373a

3731

3732

373$

3734

3735

3739
3737

374%

3741

3742
3743

374g
3745

3746

3747

3759
375;

3752
3753

3754

73mm

7766
7372

7547
7772

7329
195a

7799
7gm2

7flfifl
7462

73mm
1934

7799
7562

7330
74fl2

7379

1m5w
779a
7546
7462

737e

731v
7972

7327

741a

7592

FAL13

IGROUP

IGROUP

/GROUP

lGROUP

{GROUP

IGROUP

V141 3-DEC-69 9:97 PAGE 68

2 QPERAIE T@ST ¢L
CLA CLL IAC=Qfifla LINKKE
CLA SHA 82A SNL /TEST COMBXNATION
HLT ICgA SMA SEA SNL SHOULD HAVE SKIPPED

IAC SHOULD EQUAL 927%

SEA

HLT [AC NUT EERO AFTER CLA SMA SEA SNL

zAc SHOULD BE 779a waxae
2 OFERAIE TEST 52

'

CLA CLL CML

TAD K3777 /AC=3777 LINK51
CLA SHA 32A SNL /TEST COMBINAIXON
HLT lCLA-SMA SEA SNL DID NDT SKIP

z

IAG SHOULD BE 7797 LINK=1
S A

HLT ICLA SMA SEA §NL 010 NOT CLEAR AC

[AC SHOULD EQUAL 066W LINKni
2 OPERAIE TEST 33

CLA CLL
_

TAD K4326 - IAC!4@B$ waxaz
CLA SMA 82A SNL ITEST COMBINAIION
HLT ICLA SMA SZA SNL SHOULD HAVE SKIPPED

z

IAC SHOULD as wage. LINKtfl
S'A

HLT . ICLA SMA 82A SNL 010 NOT CLEAR AC

IAC SHOULD EQUAL 5779

2 OPERAIE 1557 ;4
OLA CLL V

TAD K3777 7Ac=3777 szxna
CLA SMA SEA SNL /TEST COMBINAIXON
SEA

'

HLT ICLA SMA SEA SNL FAILED. Ac

ISHOULD BE 1580. LINK“,a
2 OPERATE TEST 35

CLA CLL IAC=EQQQ LINK!@
SKP ITEST INSTRUCIION
HLT /SKIP FAIkED

IAC AND LINK EQUAL zERo

2 OPEHAIE TEST §6
CLA CLL CHL '/Ac:7eam LINKyl
SKP ITEST INSTRUCTION
HLT ISKIP FAILED

IAc=wmea LINKal



zxasrflucrzov YES? — 1

3755

3759
3757

5762

3761
3762

3765

3764

3755

37¢§
3767

377%

37?1

3772

3775

5773
3775

3776

3777

4%39

4891
4352

4za¢

«ar4

ages
42%6

7329

1952
741%

7&fi2

Vsaz

1g§w
7913
7§m2

7208

145?
vzxw
7592

744a

7492

72am

1gaa
7716

7440

vgaz

4MB@

?24@

7652

7102

729%
795a
v44e

7592

PRLlfl v141 3-DEc-b; 9147 PAGE 69

IGROUP 2 OPERATE TEST 5?

CLA CLL CML

TAG K9177 /Ac=5{77 LINKFl
SKP ITEST INSTRucTION
HLT /SKIP FAILED

IAC=3777 LINK=1

lGROUP 2 DPERATE TEST 38

CLA CLL
TAG K§{77 IAC¥SZ77 L1~ng
SKP ITEST XNSTRUCJION
HLT ISKIP FAILED

IAG=3777 LINKIQ
{GRGUP 2 GFERATE TEST 59

CLA
TAB K9277 /AG§3(77
CLA SPk /TEST COMBINATIGN
HLT {CgA SPA DID NOT SKIP. AC

(SHOULD BE EEfiO
Sig

HLT ICLA SPA 0:0 NOT CLEAR AC

{AC SHOULD EogAL ZERO

iGROUP 2 OPERATE TEST 4E

CLA
1A3 ngpau xAc=4gzw
CLA SPA XTEST COMBINATION
SEA

HLT [OLA SPA FAXLED. AC SHOULD

fEQUAL 090a

o4aga

IGRQUP 2 OPERAYE TEST 91
CLA CHA IAC=7777

CLA SNA ITEST COMBINATION
HLT [CLA SNA 010 NOT SKIP

[AC SHOULD BE Beam

/GRUUP 2 OPERATE TEST 42

CLA xAc=wgam
CLA SNA ITEST COMBINAIZON
SEA

HLT /CLA SNA FAILED
IAC SHOULD EQUAL WEZB



/INSTRUCTIG\ TEST 3 l

4397

421$
4211
4312

4213
4214

4515

4216

4217
4a2fi

4a21

4%22
4325

«@24

4225

4225
4&2?

4E3?
4331

4332
423d

4234
4E35

4336

4337
434%

4241

4342

729w

755m

7449

7562

72wa

lghw
7556

7%02

7290

l@§4
725%
7450

7322

72wa
7752

744a

75m2

723%
1950

7759

75a2

7449

vgaz

729%

1034
775%

73fi9
75E2

PAL1® V141 3-DEC—b9 9:37 PAGE 72

stoup 2 OPERATE TEST 45

CL) /AC=S%@@

SPA SNA xrasr comaxwalxow (AND)

SZA

HLT ISPA SNA SKIPEED
/Ac=eaew

IGROUP 2 OPERATE TEST 44

CLA
TAD K§(77 xAcsaz77
SPA SNA ITEST COMBINATION (AND)

HLT ISPA SNA FAILED T0 SKIP
. /Ac=3777

{GROUP 2 OPERATE TEST 45

CLA
TAD Kggaw /Ac=49wu
SPA SNA ITEST COMBINATION (AND!

SNA

HLT ISPA SNA SKIPFED.
IAcs4ema

{GROUP 2 OPERATE TEST 46

CLA zac=mmma
CLA SPA SNA x7537 COMBINATION (AND)

32A

HLT ICLA SPA SNA [AILE0.
/AC SHOULD BE fififlfl

{GROUP 2 OPERATE TEST 47

CLA
TAD K3777 IAC=3777

CLA SPA SNA ITEST COMBINATION (AND)
HLT {CLA SPA SNA 910 NOT SKIP

IAC SHOULD BE EQQG

SiA

HLT ICLA SPA SNA 910 NOT CLEAR THE AC

{AC SHOULD EQUAL eaaa

{GROUP 2 OPERATE TEST 48

CLA .

TAD K4966 xAc=4$aw
CkA SPA SNA /TEST COMBINAIION (AND)

SiA

HLT /CLA SPA SNA FAILED
IAC SHOULD EQUAL ZERO

PAUSE



filVSTR#C'Ifly :53? - ; fiALifl v141 6~DEC-§¥ ¢xa7 9A5; 71

IIHSTHUCTIQN TEST - YAPE 4

/GRGUH 2 JPLRAIE Tgsr 99
4?:3 7&33 CLA CLL

43d$ 3&52 TAG K5252
'

IAC=5Z52 LIVK‘?
454a 79;; CLA SéL /T£$T taxaquIxan t

4345 7§52 8LT lCLA SZL DID NOT SKIp

/AC AND LINK SHOULQ SE ?

45¢! 7546 52*

“flfib 7432 HLT ICLA 52L DID NOT CLEAR AC

IAC SHCULD BE BERG. LINksa

/GRou9 2 GPERAIE VEST be

«35 756E CLA CLL CML CMA /AC=7777 LINK=1
4252 7g5a CLA StL IYEST COMBINAIION (AND)
43a: 7353 SEA

425; 7432 “LT /CLA SZL FAILED. AC SHOULD?
/BE gfiza. LINKII

IGROUF 2 OPERAIE TEST 51

“fifiS 7 33 CLA CLL

4355 185% TAD K5777 /Ac=3?77 LINK=E
4:5! 725; SPA SiL ITEST COMBINATION (AND)

43%3 7432 «LT [SPA SZL DID Nor SKIP

/AC=5777 Lxmfilv
{GRCUP Z‘OPERATE TEST DZ

42:: 762% CLA CLL CML

dféa lflbé TAU K§777 fAC=3777 LINKal
43b5 7:93 SPA StL iTEST COMBXNAIXON (AND)

6364 7458 SNA

4265 ?§&2 HLT ISPA SZL SKIPPED
/AC:$f77 LImKsl

/69349 2 SPERATE TEST 53

42:5 75:3 CLA CLL

“967 1§44 TAB K3§Bfi IAC=4gBd anxea

“$73 ??53 spa 52L /TEST COHBINATIDM (AND)

¢g71 7533 SMA

4572 7322 HLT /SPA szL SKIPPED
IAC=4aae LINKad

[GROUP 2 OPERATE TEST 54

4&75 7;:3 CLA CLL
43?“ 1&53 TAD K§Z77 xAc=sz77 szx=n
4¢?5 7738 CLA SPA Si; ITEST COMBINATION (AND) ,

4573 7362 HLT {CLA SPA SiL §fl0ULD HAVE SHIPPED
IAC S“EULC 8E raga, LIMK=4

41?? yang SEA
-

41:9 7392 «LT ICLA SPA SfiL 015 NOT CLEAR THE AC

’AC SHGULO SE was:



IINSTRUCTIDN TEST B 1 PAle V141 3-DEC—69 9:37 PAGE 72

IGROUP 2 OPERATE TEST DE

4131 7420 CLA CLL CML

41u2 1g5m TAD K9277 IAC=3?77 LINKfll

41w3 773a CLA SPA 32L /TEST COMBTNATION (AND!

4134 744a SEA T

41a5 7392 HLT /CLA SPA 32L {AXLED
IAC SHOULD EQUAL @EEB LINK=1

IGROUP 2 OPERATE TEST 56

4159 79am CLA CLL
41w7 1w34 TAD K4mwa xAc-Agez LINKnfi
411m 7735 CLA SPA 32L ITEST COMBINATION (AND:
4111 7540 52A

4112 7492 HLT /CLA SPA szL EAILED
IAC SHOULD EQUAL fiflflfi LINKIQ

[GROUP 2 OPERATE TEST $7

4113 7§za CLA CLL

4114 1%34 TAD K4EEZ IAC=4HEE LINK38

4115 737a SNA SiL {TEST COMBINATION (AND)

4116 74a2 HLT ISNA SEL DID NOT SKIP

/AC 3 4393 LXNKtB
'

(GROUP 2 OPERATE TEST 58

4117 7322 CLA CLL CML

4129 1%34 TAD K46mfi xAcsaaea LXNKai
4121 7576 SNA SiL ITEST COMBINATION (AND)

4122 7429 sNL
4123 7452 HLT ISNA SZL SKIPPED

/Aca4@mz wangl
(GROUP 2 OPERATE TEST 59

4124 7520 CLA CLL /Ac=aama LINKsa
4125 737a SNA SiL ITEST COMBINATION (AND)

4126 74am SEL
4127 7492 ML? ISNA 52L SKIPPED

/Ac=amma LINKsa
/GROUP 2 OPERATE TEST gm

413% 7326 CLA CLL CML
4131 1034 TAD K4063 [AC=4@%@ L1NK!1
4132 7979 CLA SNA SEL ITEST COMBINATION (AND)

4133 7445 SEA

4134 7§Q2 HLT ICLA SNA 52L EAILED: AC SHOULO
/BE a@flm. L1NK=1



IINSYRUCTIOM TEST ‘ 1 PALlZ V141 3"UEC~69 9837 PAGE 73

IGROUP 2 OPERAIE TEST 61

4135 736% CLA CLL

4139 19§9 TAD K3@0w IAC=4Q$3 LINKfB ‘

4137 7§7fl CLA SNA 52L lTEST COMBINATION (AND) ;
414$ 7392 HLT ICLA SNA 52L DID NOT 5x19

L

IAC SHOULD BE azuz. LINKt27

4141 7440 SEA

4142 7402 HLT ICLA SNA SEL DID NOT CLEAREAC
[AC AND LINK §HOULD BE zafia

zcaoup 2 OPERATE TESY 62
-

4145 73E§ CLA CLL /AC=@%$@ LINKSE
4145 797@ cuA SNA SEL (TEST COMBINAIION (AND)

@145 7446 SEA

4146 7492 HLT [OLA SNA 32L FtiLED. Ac SHOULD

xag wgea‘ LINKgB
zsaoup 2 OPERATE TEST as

4147 7&99 CL& CLL

4156 1g59 TAD K9277 /AG~$?77 anKtfl

4151 7572 SPA SNA 51L (TEST COMBINATION (AND!

4152 74m2 ugw ISPA ShA 53L 010 N07 SKIP i

IAC=3777 LINKIE
/GROUP 2 OPERATE TESY 64

415} 752% CLA CLL CML

4159 195a TAD K§I77 xiC$3?77 LINK:1

4153 757B SPA SNA SZL ITEST COMBINATION RAND}
4156 7322 smL

’

4157 75a2 HLT ISPA SNA SE; §KIPPED
’ IAC=5777 Lxthl

IGRDUP 2 OPERATE TEST 65

416% 7gaw CLA CLL xAc=wwam L[NKIE
4161 757% SPA SNA 82L ITEST COMBINATION (AND)

4162 743% SEL

4163 7§U2 HLT ISPA SNA SZL SKIPPED
IACIQBEE LINKDQ

IGROUP 2 OFERATE TEST 66

#163 7§nm CLA CLL

4165 1Q§4 TAD K5908 zACxégez LINK=B
4166 Y57fi SPA SNA SEL ITEST COMBINATION (AND)

4167 755% SEL
417% 7402 HLT ISPA SNA SZL §K1PPED

IAcu4aem LINKIE



/INSTRQCTIDN TEST - 1

4171

4172
4175
4174

4175

4179

4177

42@@

42m;
42e2

42m3

42A9

42gb

42Z6

4227

421?
4211

4212
4213

4214
4215

4216

4217
4220
4221

4222

4223

7§wa
195m
777m

7Aw2

7&4?
79a2

7DU6

429%

7§2D
1959
7770

7546
7gm2

7§am
1m34
7779

7399
7332

7Aaa
777m

7346
vgua

72am
1m52

7904
795?
7449

7462

PALlE V141 J-DECaQV 9tD7 PAGE 79

[GROUP 2 OPERATE TEST 97
CLA CLL

TAD K5777 /Ac=3777 Lxmxaa
CLA SPA SNA 32L ITEST COMBINAIION (AND)

HLT ICLA SPA SNA §ZL 010 NOT SKIP

52

lAC AND LXNK SHOULD BE ZERO
A

HLT ICLA SPA SNA 52L DID NOT CLEAR AC

OP

IAC AND LiNK SHOULD BE zERo
N

.

GAZEE

IGRDUP 2 OPERATE TEST 93
CLA CLL CML
TAD K9277 . zAcaaz77 LINKfll

ch
SPA SNA 32L ITEST COMBINATION (AND)

s A

HLT ICLA SPA SNA §2L FAILED. AC SHOULD
/BE Efififi, LINK SHOULD EQUAL ONE

/GROUP 2 OPERATE TEST 69
-

CLA CLL
'

TAD Kfiflflfl IACBAAAB LINKafi
CLA SPA SNA 32L ITEST COMBINATION (AND!
SEA

HLT ICLA SPA SNA SZL FAILED. AC SHOULD
/BE QBQQ. LINK SHOULD EQUAL EERO

IGROUP 2 OPERATE TEST 7%
CLA CLL IAC=BDEE LINKIB

CéA
SPA SNA 32L /TEST COMBINATION (AND)

S A .-

HLT ICLA SPA SNA 52L FAILED. AC AND

/L1NK.SHOULD BE ZERO.
IGROUP 2 OPERATE TEST 71

CLA

TAD K5252 IAC=5252
CLA OSH {TEST COMBINAI:0N
CMA

SEA

HLT zch 03R FAILED
/Ac SHOULD es'amaz



[IMSTQuCTIQN TEST *

t-

J‘

b

&

Iv

Iv

IQ?“

M

R).\Jé\) \Mou‘wbaux.

«\A

b u (A S

dial
4232

4236

4234

4235

4236

4737
424%

4241

4242

4243

4244

4745

4346

4247

425%

4251

4252

425}

4254
4255

4256

4257

4266

42$1

4252

429%
42634

72@@

1&54
72a4
7402

7a47

744w

7gw2

7229

7944
74%2

794w
7446

75a2

7927
7424

74a2

7g4u
7449

7332

7970
1%bfl
7764

755%
7332

veea
7gam
74a2

72a3

7514
7592

7w4fi

7E9?
7432

1 PAL13 vl4l 3'9EC'69 9l57' 9‘65 75

IGRQUP 2 OPEHAIE TEST 72

CLA
TAD K3963 /Ac=4@@a
SMA 05H /TEST COMaINArION
fiLT /SMA DSR FAILED T0 SKIP

IAC SHOULD BE 7777

CMA

SEA

HLT 7SMA 08R FAILED
/AC SHOULD BE awaa

/GRouP 2 OPERATE TEST 73

CLA /Ac=amaa
SéA OSR ITEST COHBXNAIION
HLT /S£A 05R FAILED T0 SKIP

IAC SHOULD a: @996

CMA

32A

HLT 152A OSR FAILED.
IAC SHOULD as gene

zsnoap 2 OPERATE TEST 74

CLL CML CLA ILINK:1

SNL O§R /TEST cowaxwaxxom
HLT ISNL OSR FAILED T0 SKXP

_

IAC SHOULD BE 7777

CHA

SEA

HLT ISNL 05R FAILED.
[AC SHOULD BE %@2@

IGRGUP 2 OPERATE TEST 75

CLA CLL

TAa K§777 IAC=3777 LINKIE

CLA SMA SEA SNL 03R ITEST COMBINATION
SNA

HLT ICLA SMA SEA SNL 03R FAILED.

IAC SHOULD BE 7777. LINKtu
CHA

SiA

HLT ICLA SMA SEA SNL 03R FAILED
/AC saouLD EQgAL ZERO

IGROUP 2 OPERATE TEST :5
CLA 74c=aaaa

SKP 08R ITEST COMBINATtoN
HLT {SKP osa DID NOT SKIP

/AC SHOULD BE 7777

CMA

SKA

«LT 7319 OSR FAILED
/AC SHOUHU EQUAL ZERO
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{GROUP 2 OPERATE TEST 77

425: 7277 CLA 7Ac=7777

4256 7514 SPA OSR 77537 camaxmaTon
4257 7372 HLT ISPA 08R DID NOT SKIP

IAC SHOULD EQgAL 7777

427a 7747 CMA

4271 744% SEA

4272 7372 HLT /SPA 08R FAILED.
IAC SHOULD BE @696

IGROUP 2 OPERATE TEST 78

4275 7277 CLA

4274 1731 TAO K9497 fAcuEflflE
4275 7454 SNA 05R 77537 COMBINATION
4279 7272 HLT ~ ISNA 08R DID NOT SKIP

7A: SHOULD BE 7777

4277 7940 CMA

4377 7557 52A

4371 7592 HLT ISNA 03R FAILED
IAC SHOULD BE 6668

IGROUP 2 OPERATE TEST 79

4372 7397 CLA CLL ILXNKEE Asaagma
4373 7434 52L 08R 77:57 couaz~arzo~
4379 7372 HLT . ISZL 05R 010 N07 SKIP

IAC SHOULD BE 7777

4375 7747 CMA

437g 7397 52A

43%? 7372 HLT ISZL 08R FAILED
7Ac SHOULD BE 7779

IGROUP 2 OPERATE TEST 97
4315 7§am CLA CLL
4311 1259 TAD K3777 IACI3777 LINK-z
4312 7774 CLA SPA SNA 52L 08R ITEST COMBINATION {AND}
4313 7472 HLT IABOVE MESS OLD ~07 SKIP

7A6 SHOULD BE 7777

4314 7947 cMA

4315 7590 52A

4316 7472 HLT ICLA SPA SNA 32L 05R FAILED
{AC SHOULD BE DGEE



xwaTRuCTIGN TEST . 1

4317 72%@

4326 $951
4321 7399
4322 74027.

4323 7249

4324 agzz
4325 734%
4326 7462

4327 732%

433% 1&51
4331 @gfil
4332 7w4z

4333 7436

4334 754a
4335 75%2

4336 75@@

$337 1Q53
$34fi @952
4341 7g20
@342 7443

4343 7502

4344 7362
434: 1952
4346 @253

4347 792%
435a 739a
4351 7gu2

pALiz

IAND TEST 1

CLA
AND

SEA

HLT

IAND TEST 2

CLA
ANS

SEA

HLT

/AND TEST 3

CLA
TAB

AND

CMA

52;
31A

HLT

IAND TEST 4

CLA

TAD

AND

SNL
SEA

HLT

{AND TEST 5

CLA
TAD

AND

SNL
SEA

HLT

V141 3“DEC-é§

«2777

CMA

Kfi@3@

CLL CHL

K2777
K2277

CLL

K2525
K5252

CLL

K?352
K2525

9307 PAGE 77

{AND FAILED AC SHOULD
[BE fifififl

[AND FAILED
IAC SHOULD EQUAL Bfififl

IAC‘7777 LINK=1

IAND FAILED: AC SHOULD BE

IBEZG. LINK SHOULD EQUAL ONE

/ACIZ§25 LINK-fl

xa~o FAILED. Ac SHOULD BE

xeaza. LINK svouLo as a

IAC=5252 LINKIE

(AND FAILED. AC SHOULD BE

xaeza. LINK SHOULD SE a



’IVSTRUCTIOH TEST ~ 1

4352 754w

4355 1%35

4354 @952
4355 7W41
4356 1&52

4357 755$
436% 744%

4361 74w2

4352 799$
4363 1953
4354 mm53

4365 7w41

436§ 1%53
4357 7436

4373 744%
437; 7342

4372 74mm

4375 7gau
4379 vgmw
4375 7wwfi

4376 7963

4377 79mg
'

44mm

44@% 72ma
4431 122w
44MB 74%;
4429 3:24
44¢4 122E
44a5 7649

4435 5;97
4497 1221
441a 3229

4411 1217

4412 6Q46
4415 6951
4414 5215
441§ 6942

4419 5147

4417 2267

442a 7993
4421 79mm

PALifl V141

IAND TEST 6

CLA

TAB

AND

ClA

TAD

Sig
SEA

HLT

IAND TEST 7

OLA
TAD

AND

CIA
TAD

52L
SEA

HLT

NOP

NOP

NOP

MOP

NOP

NOP

i44$3

SQDEC—69

CLL
K7776

K?252

K5252

CLL
.

K2?25
K2525

K2?25

ICHECK FDR BELL

CLA

TAD

IAC
DCA

TAD

SlA

JNP

TAD

DCA

xaxmc BELL

TAD

TLS
TSF

4MP
rcr

JHP

32g?

RZEE

~EZW

BEL:

BLCNTI

BLGO’UI

BLCNT

BLFNT
BLCNT

CLA

STARTt§
BLUON
BLCNT

BEL

I’i

SfARTt;

9Ifl7 PAGE 78

{AC=7?76 LlNKgfi

lTEST INSTRUCTIGN
IAC=2526

/AC=QE$@ LINKal

lAND FAILURE. AC SHOULD BE

xwgam. LINK SEQULD BE ONE

/AC=2?25 szxéw
ITEST zmsrnucrxow

/AC=5253

/AC—wgam LINK = 1

IANO FAILED. AC SHOULD BE

IQBEE. LINK SHOULD BE ONE:



MAINDEC EVALUATION REQUEST

After sufficient familiarization with the operation and documentation of this MAIN DEC,

plpaqn indicate your assessment of the following areas and return this form to Digital Equipment Cor-

poration.

IDENTIFICATION: MAINDEC NO.___________ Program Title

USAGE: Used by: Field ServiceD Production D Other B
Frequency of Usage: Daily D Weekly [3 Monthly D

SUGGESTIONS FOR IMPROVEMENT

l. Are the program loading and operating instructions: clear?C], incomplete? D, difficult to

follow CPD
2. Do the error reports and program documentation provide sufficient diagnostic information:

in all cases?[j, in most cases? C], in very few cases ?[:]. Suggestions for improvement:

3. Is the program effective in isolating malfunctions: in all cases ?[:J, in most cases?D,
in very few cases ?[:3. Would additional Scope loops or Switch Register control be helpful ?

Suggestions for improvement:

4. Does the program ever fail to detect malfunctions exposed by other software?

Were Margins used ?______________ Please describe malfunction in detail:

5. Does the program ever report non -existant malfunctions ?

Please indicate erroneous report and any pertinent operating conditions:

6. Does this MAIN DEC ever expose malfunctions in the Central Processor or other peripheral units not

detected by the apprOpriate MAINDEC ?

Please describe malfunction and MAINDEC(S) used:

7. Does the document provide a general understanding of the functional programming requirements of

the system? Good , Fair
, None . Would a general description of programming re-

quirements increase t e effectiveness of this AINDEC ?

Remarks:



......................................................................................... Fold Here

............................................................................ D0 Not Tear _ FOICI Here and Staple "'“'-°-H"v-u-vuu-n-ou-u-un--..........................

FIRST CLASS

PERMIT NO. 33

MAYNARD, MASS.

BUSINESS REPLY MAIL

NO POSTAGE STAMP NECESSARY IF MAILED IN THE UNITED STATES

Postage will be paid by:

angulan
DIQIIGI EQUIPIIIGT‘

Diagnostic Programming Group
146 Main Street, Building 12

Maynard, Massachusetts 01754
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